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# � ���	
�����!��	�$�� �
 #
'1' 6�������������
��������
 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 '
'1% 0	���
������7�	� 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 '&

% PSL(2, C) 
�����
���
�	����
���	���
 #&
%1' 6�
������
��������
 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 '-
%1% #	��4�����
���������������	������6�����������$
 1 1 1 1 1 1 1 1 1 1 '5
%18 9����������
�4����$
 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 %&
%1: 9�����������	�
��� 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 %;
%1- 3�������$
 PSL(2, R) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 8&
%1< 9����������
�4����$�$��$���=��� SL(2,O[ 1

p ]) 1 1 1 1 1 1 1 1 1 1 8-
%15  �������$��������	��>��$	�
 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 8;

' ���������	
��	
 ((
81' ������������ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ::
81% #4
�������������	��4��
 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 :<
818 )���$�������	��= 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 :?
81: (�
�����������������
������$
��������������	��=�����$
 1 1 1 1 1 -'
81- 3��������������������	��4��
��������������	��=�����$
 1 1 1 1 1 -'
81< �������$������
��������
�����������
�4����$
 1 1 1 1 1 1 1 1 1 -?

��� ���	
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 �� H ≤ Γ−d = PSL(2,O−d) �������������$$���������	����������>���� d
�����@���������������A�	�����!��	1  �� H ����B���	 a" �������C8%D���7�����" ���

�� Ĥ ����+���������4
��	�E���� H1 #��������� p ∈ O−d �
�������0������	
��� a+ pO−d = O−d1 ��7����� g :=

(
p 0
0 1

)
∈ PGL(2, Q)1 ������
���#�4���

����������" ��

���̈��F���� Γ−d
����	 X ����F���
 q ≥ 1" ��
���	��������������
������������
�/

Hq(H, X)

TH
g

��

trĤ
H �� Hq(Ĥ, X)

TĤ
g

��
Hq(H, X) Hq(Ĥ, X)

resĤ
H

��

��4�� trĤ
H ���� $���44�	�����,��
��
��������." resĤ

H ����(�
��������
�44�	����" ���
TH

g ����������$$�	��4���	�

� HgH �����������������
G$��������
�1 ���

�
�������H���		����������������#�����H��������" ������������� $����	��		����
 �����,'?;5.��������#		�������������6������,'??:.�4����
��������1 ����H����

�����	������������	��/ ����2����������������
G$�������� TH

p ��������(�������
 $���������� Sk(H) ����F�����4�	��4�����)������ k" �

����������������������

+�������������������$$� H ��� PSL(2, Z) �������	����������>��
����

�	4�
��������2���������
������
G$������
 TĤ

p ��� Sk(Ĥ)" ��4�� Ĥ ����+��������

�4
��	�E���� H �
�1 ��

����E�" ��

���
���	�������������������������/

Sk(H)

TH
p

��

TrĤ
H �� Sk(Ĥ)

TĤ
p

��
Sk(H) Sk(Ĥ)

incl.
��

��
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9��
�������7���������>�
�4����$ H ≤ Γ−d = PSL(2,O−d)" d ��=�
@����
����
������	����4��1 B�� H 4�����	���	 a" �������
��
�����C8%D" ��� Ĥ ��
�����������
�	�
���1  �$$�
������ p ∈ O−d �
�$�������� a+ pO−d = O−d1 ��7�� g :=(

p 0
0 1

)
∈ PGL(2, C)1 ������
�����" ���
�����������������= Γ−d
����	� X ���

����= q ≥ 1 ������		���������������������
/

Hq(H, X)

TH
g

��

trĤ
H �� Hq(Ĥ, X)

TĤ
g

��
Hq(H, X) Hq(Ĥ, X)

resĤ
H

��

����� tr ������
�����������,��
��
��������.���$" res ������
�������
�����������$"
��� TH

g �
������������$��������

������������������4	����
�� HgH1 3��
��
������

���	���������������#����I
����F�������,�������������" 7�
�����7����������
$����	
��
��4=� ������� 1987 ����7��		=�$���������������	�4=�6�������� 1994./ ����������
��������������$������
 TH

p �������
$�������������
$�����
 Sk(H) �����=������
������ k �

����������������
�����������7���������>�
�4����$ H ≤ PSL(2, Z)

�
��

�����		=�����
�����
��������������������������$������
 TĤ
p �� Sk(Ĥ)" �����

Ĥ �
�����������������	�
������ H1 �����$����
�	=" TH
p = TĤ

p ◦ TrĤ
H " ����� Tr �


������������$�4�����������
$�����������	�������
1 3�����
" ������		�������������
�������
/

Sk(H)

TH
p

��

TrĤ
H �� Sk(Ĥ)

TĤ
p

��
Sk(H) Sk(Ĥ)

incl.
��

�
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3��
����
�
�$������
���7�
��
��$���������>$	�����������������������
$���
�������

�����������
�4����$
����6�����������$
1

2�=��������
�����������
�4����$
���$������J G���
��$	����
�����
������
4=����	�

���	������������6�	=�/ ��=�
������$��F���������������7��������������4��
7�	���
��
����$�������������	�������������
����7���������>�
�4����$��� SL(2, Z)1
3�����F����=�������
������$
��������
����������1 2��	�����
��
��������������
��������������
���=����
�����������
�4����$
" �������������������
��
������
�����������������������������1

3���7�
�����
���������
��������������������
$���
�������
�����������
�4

����$
�����������#������������F������������������������=���������
����������

�4����$��� SL(2, Z) ��
��

�����		=�������4=����������������=������
�����������
�	�
����,
���4�	��.1 3��
����F���������
�$���������4�������4=� ����" 3���$
��
����	�����6�����1

2��	�����
�����
�������$��

������������
�����������
�4����$
��������������

��		=���
����7����" �����>$��������	���������#��������� ���������
�=����	���

������������
������4��������1 3��=��������
����
�������F������
��4����������

����
�4����������������������K�����
��������	�������
�����������������������

�����������
�4����$
��� SL(2, Z)1 3���=��������
�
����7�����$�����

�������

�����
��4	�
������������
������������
" �
$����		=�4=�B�" B��������#����1 # ��F��
��$���������
�$�����

�������������������������	�$�$������ ���		���������������
)�	��
���$��
��������
��������	�������
��������
�����������
�4����$
������
����
���	������
������������
��������������������������������$������
" 
���C-5D1

3����L���
���� ����" 6�

" B�����" ���������������	����
������������������
����$
 SL(n, R)" ����� n ≥ 2 ��� R �
��������������������
���������4���7�	� K"
������	=����
�����������������
�����������
�4����$
���� SL(2, Z) ����6������
����$
" ������
" SL(2,O) ���� O �������������������
���������������=�@��������
���4���7�	�1 3��
�4�
���
 SL(2, Z)" ����
���	=�������	��������
����������������

������������
�����������
�4����$
����6�����������$
�,������������>$�
����=
�����������������
����$��
" 
���C:<D.1 ������
����
�
" ����
��4	�
���������	���������
���F����������#�����������������������=1 B����
�4�������$����
�����1

��������=�7���������>�
�4����$ H �� PSL(2, Z) ,H ≤ f PSL(2, Z) ����
����.
��������= k, p ∈ N" p $����" 	�� Sk(H) �����������
$���������� H
��
$�����

��������� k ��������		�����������������$������ TG

p : Sk(H) → Sk(H) �
���7���

��
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4=
TH

p ( f ) := Σ
i
( f |k p̃) |k gi,

����� p̃ :=
(

p 0
0 1

)
" H = �

i
Hpgi" ��� Hp := H ∩ p̃−1Hp̃1 # ���F���������

#�����,�������������" 7�
�����7����������
$����	���
��4=� ������� 1987 ����7��		=
$���������������	�4=�6�������� 1994.�
����
�������������������������������$������

TH

p �������
$�������������
$�����
������=������������� k �

����������������

�����������
�4����$ H ≤ PSL(2, Z) �
��	�
�	=���	�������������������������
�������$������
 TĤ

p �� Sk(H̃)" ����� H̃ �
�����������������	�
������ H1 ����
$����
�	="

-���	�!. �����		��
���		�$��������4��
 p" ������� TH
p = TĤ

p ◦ TrĤ
H " ����� Tr

�
�������������$1 3�����
" ������		���������������������
/

Sk(H)

TH
p

��

TrĤ
H �� Sk(Ĥ)

TĤ
p

��
Sk(H) Sk(Ĥ)

incl.
��

+��$�������
��������" ��������		��������

'1 4=���������	��
 ��������������" Sk(H) ����4����������
���
�4
$������
H1(H, Xk)" ����7�
��������	��=�����$��� G ��������K�����
�������������
H
����	� Xk" ���

%1 �������$������
������������������	��=�����$
����"

��������
�������		=��������@��
�����������������
���	�����������������
����
������	��=" �1�1 ��������
������������	���

H1(H, Xk)

TH
g

��

TrĤ
H �� H1(Ĥ, Xk)

TĤ
g

��

H1(H, Xk) H1(Ĥ, Xk)res
��

��$$��
�����������J ,���� g �
���
����4	���	�������� PGL(2, Q)1. 2�����������

����
�����@��
����
�����$	�=�������������
" ��=�����4����������������	�
���" ���
���������������" �
������������

���
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Hq(H, X)

TH
g

��

TrĤ
H �� Hq(Ĥ, X)

TĤ
g

��
Hq(H, X) Hq(Ĥ, X)res

��

�������
" ����M�		M������
���
 q ����M�		M H
����	�
 XJ 3�����
�����
��������"
=�
" ����������
����������������������
�������
������		�7���������>�
�4����$
�������

����		���6�����������$
" ,�1�1 PSL(2,O−d)" ����� O−d �
��������������������

�� Q(

√−d)" ��� d �
���=�
@����
�����������	����4��." �������������	�����
 g
,
���4�	��.1 3������������" �������
���������	�����������6�����I
���������C?D" �

�
���		��
/ 
�������������$��������$������=" 	�� G 4�������4�����=�����$" H ≤ f
K ≤ G ��� g ∈ G 4��
�������� [H : Hg] < ∞" K = (Kg)H" ,����� Kg :=
K ∩ g−1Kg.���� [Kg : Hg] = [K : H]21 2��
�����������������= G
����	� X
��������= q ≥ 1 ������		���������������������
�,
���81-1<./

Hq(H, X)

TH
g

��

trK
H �� Hq(K, X)

TK
g

��
Hq(H, X) Hq(K, X)

resK
H

��

����	�� H ≤ f Γ−d = PSL(2,O−d) 4�����	���	 a" ��� Ĥ 4����
�����������
�	�
���1  �$$�
������ p ∈ O−d �
�$�������� a+ pO−d = O−d1 ��7�� g :=(

p 0
0 1

)
∈ PGL(2, C)1 2��
�������� H ��� Ĥ 
���
�=������4�������������
�,
��

81<1;.1 6=����������M	���	M��� H �����������������,���@��.�����	 a ��O−d �������

��>���	����������$��$���=���������������	��	�
������ {( 1 a

0 1

) ∈ PSL(2,O−d) |
a ∈ a} �
����	������� H ,
�� 9��$����%.1

B����
�������������������������	=�������
�������4�����������
����������
��������
�����=����6��������������$��������
" ����������4����������
�������	��=��	�

�

���
�4����$
����6�����������$
���������K�����
����������������	�
" 
���C%5D����
C8-D1 G�����
�	�
�����4���
����������������������������������6��������������$���
����
����������
�����������
�4����$��� PSL(2,O−d) �
��

�����		=�����
�����

��������������������6��������������$��������
���������������������	�
����������

�4����$1

3��
���������
�
�
�������������$���
/

9��$����'

����
���4���������������4�
�����7������
���������
��4�����	��4��������4���7�	�
1
2��7>�
������������
�����	�
��
������
=�$��$�����
����������	�
�����	�����@����

����
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���������
1 3����������������������4��������������
$���
�����	��4��������4��
7�	�
" �����>��$	�" �
������������$$��
���������������$�������������
��������

����	�������������	��4��������4���7�	�1 2�" �������" ���������		�������M
���

����M�����������	��4��������4��������=" ��7���������7�����������������	
����1
��
����" �������
����������	�������=��$$�����" �
��������
����C%%D1 3��
����$

������������
�4=�����		����
��������
��4������	����7�	�
�����$	���
" ��������		�4�
�
���������$��� 21

9��$����%

3��
����$������
��������	
/ 7�
�" ������������4�
���,�	��4����.�$�������������	�����
6�����������$
����������������
�4����$
" ���������������������������	
1 2��	�
�

����$��
��������
�������	������6�����������$
����������
������
�	�
��4���������
7����" �����	" �����4�	����
�4����$
�
�$�����	=���������
��������
������������

����1 3�����������		���������������������
�4����$
�����������
���4����
������	

�4����$
����7���������>����6�����������$
����������������������������
�4����$
$��$���=" 9 01�2�����������>�����������������	���	���������		�4�������$���������

�����������������1 2��������������������
��������
���������	���	�������������������
����������������		�����	�
���" ������
������
�����	�������=�$��$�����
��������1
2��$����" �����>��$	�" ������		������,%181'%.

/	���
�����. B�� H 4����
�4����$��� G = PSL(2, R)" ����� R �
���=������

���������������������1 �� H ��
�7���������>��� G ��� char(R) � [G : HG]" ���� aH
�
����
����1

3���
���������	��
����$���������9 0 ��� PSL(2,O−d[1/p]) ����
�����������
������=�����	 I � O−d �����������������	�����
 g ∈ PGL(2, Q(

√−d))" ���
���	��������$������ Γ(I) ∗Γ(I)∩Γ(I)g Γ(I)g �
��
����$���������7���������>�
�4

����$��� PSL(2,O−d[1/p]) ,%1<1;.1 3��
���		�4���
���������$��� 3 �����������

�������� H ������
�������������	�
��� Ĥ 
���
�=��������������
�������������

����������$��������$�������������
�	��,
����4���.1 #����������������
����$���"
���$��
����
�������$����
�������>��$	�
�������$������	���	
����
�4����$
���
PSL(2,O−1) ��� PSL(2,O−7)1 2��
���������>��$	�
���������������
�4����$

����������	�������$	����������$
" ������
" �
����$���������������������	�����$
����������$	�������� S3 ���
����	���1

9��$����8

������
����$�������$���������������	�����������#����I
����F������1 2��
�����4=��
���=�
���������������������	�������
������������$������
���������������
��


#����I
����F������1 3�������7>�������������
���������$�������	��=�����������
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�����������4	����
��
�,�������	��4��.������1 #�����
�$�������������4	�����$��������
���������������M$��������$�����������
��	M��������������	�����#����I
����F������
,81-1<.1 3��
" �����������������=�
��		���
�	�
�������$���
 1 ��� 2" 	���
��
���
�����������
�	��������$��� 3" ��������81<1;1
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������ ���!���

���
������		" � ���	��	�������������0����

���������)������	�1 ��
�
�$$�������4	��
������
������=�0�1�1����)�����=1 6����������7�
��������������
��������
����$	����"
0����

���)������	���������		=�$�

������=1 � ������������
�����������
������=
�������������������	���1

� ����	
���������	����0����

���2�	��	�� �����������4�����
�������������	$���
������$	�����=�0�1� �������0���1 ���1 ��1 3�4��
�����
�����
��������
�����
�����
�>�������������
����
�
1

�����������	�
��������=���
�� ��
�
�$$������4=�����)������������		�� 1150
M������$�������+�����	����M1 � �$$��������4=��������������
��������)(+ 11501

� ���	��	��������>$��

��=������
�������
����0����

���(�4����2�
4����" ���
��������$�

�4	��������������������)�����=��������������=�
�����
������ ����
4�����������	��������������
����������
�
�$$����������	$�����������		��
$���

����=�	���13�����������=�
���=" ��
�������" ��������" ���������
������������
����$	����4	�������=�$�����

1 ����	��=
�	�
������$������	=������������� ���
@��
����
������K��	���
������	��=���	$�����1

�=�
$����	������
�����=������!������������������
�������" �������������
����	���1 2�������������	$��������$	������������
�����������=�
�����
���������
$�

�4	������		1 B������
�����������$�����
�����������
���
�4�����	��=
���K��	�
�������" ����4����
������=����������������������������
" 
�����
���
��������
������	���1 ��
$��������		����
�" 
����	��=
�$����������������
�������	�������

�$$���1

� ����������	����0����

���G	���6���$�	
�������
�����	���	$��	�����$����������
��
��

���
1 ���	�
������$������	=������������� ��
�����	�$������������
�������
�������������,81<1;.�������
�����1

��1  �����6�������������
�����	=�������	��=
���	$����������	=��������	�
�
=���
1 �=������
�������
��������1

�������" � �������=����������1 ��	��� ����������$����
�����������
����
�
1 ��

��	$��	�
����
����
������������
�������=��������������$	���" �����4	�����
�����
�����4	�1 �=������������
�������������		�������	$��	���
��

���
1

� ���	��	��������������=�������
�������		�����
������	�#$$�	" ��1 (�4�́��N1
 �́�����
)���́ı�" ��1 �����������" 9���
�����#>	�������9���
�����B�̈L�	
���������		
���������������	��������
��������������
��

���
�������������	$��	�
����


����
1

>�





# � ���	
�����!��	�$�� �


#�=�7������>���
�����������7�	������������	����4��
��
���		�������	��4��������4��
7�	�1 ������
����$�������
���=��	��4��������4���7�	�
" �
����=�$	�=�����=���	����
�������
������������6�����������$
" ��������������������	��4F���
�������������
������
����
�
1 ���
�������'����7>�
����4�
�����������
�������7������
��������

�����	��4��������4���7�	�
������������
��������
��4�����������4��������=���
Q[

√−d]1 ���
�������%�����������4���O=���	����7�	�
���������		�
��������
��4���
$	���
���������4���7�	�1

'1' 6�������������
��������

#�=�
�47�	� K �� C �������
�7����������
����	����� Q �
���		����� 
 ���	
��
��!��	�0� �1 2������������ 1
��2	�������������	
 �� K 4= OK" ������
" OK �

�������������	��4������������
��� K1 #� �	��	 �������	��4��������4���7�	� K �
��

�4������� OK �������
������� Z
����	��������� [K : Q]1

-���	�!�
���3�0������ #.#.#. B�� K 4������	��4��������4���7�	������ n = [K :
Q]1 3������������������		�����/

'1 OK �
��������		=��	�
��1

%1 ����=����
�����$���������	��� OK �
���>���	�,�1�1 OK ��
�+��		������
���
1.1

81 OK �
������� Z
����	��������� n" �����������
�����������1

:1 ��������=����
���������	 I �� OK" OK/I �
�7����1

-1 OK �
������������������" ,
��" �����>��$	�" �����������
�������	����
'1%1: ��������7������.�������������
����@���$���������	������$�
�����1

<1 O∗
K = (O − {0}, ·) �
���7����	=������������4�	��������$1

51 �� L �
������������4���7�	������ K ⊆ L" ���� OL ∩ K = OK1

������$�����
��" �����>��$	��C-%D1

'



'1 #B)�6(#�9 ���6�( ���B� 

���
���� #.#.%. B�� K 4������	��4��������4���7�	����� x, y ∈ K1
'1 x ������
��������$	�>����F�������� x1 9	���	= xy = x y ��� x + y =

x + y1

%1 N(x) := xx ������
�����
����		�� ��	! �� x1 9	���	= N(xy) = N(x)N(y)1

81 x | y ����
��������>�
�
 q ∈ K ���� qx = y1
#�=��	��4��������4���7�	� K ��������
��� 2 ���� Q �
���		���� 4�
�	
���

��!��	�0� �1 B�� K = Q(α)" ����� α 
���
7�
�
����@����������@������ ax2 +
bx + c = 0" ���� a, b, c ∈ Z1  � α = (−b ± √

A)/2a ���� A = b2 − 4ac1
B�� A = A2

1d" ���� d 
@����
����1 3��� K = Q(
√

d)1 3��
����
������������=
@������������4���7�	���
������������ Q(

√
d)" ����� d �
���=�
@����
������������1

������=�������	����4�� m" ��7�� Od,m:= Z + mωZ �����

ω := ωd :=

{√
d �� d � 3 ��� 4 ,�L −d � 1 ��� 4),

1+
√

d
2 �� d ≡ 3 ��� 4 ,�L −d ≡ 1 ��� 4).

����
��$	����=" ������ Od,1 4= Od1 2���	
����7�� O1 := Z1
�������4��
�����,C-%D.����� Od �
��������������������
��� Q(

√
d)1 3�������


Od,m ���������
��� Od1 2������$������	��	=�������
����������4���7�	�
 O−d"
d ∈ N ������
�����1 �����������" d ��		�4����
@����
���� natural ���4��1
-���	�! #.#.'. B�� 0 � x = a + bω ∈ O−d, n ∈ N" �����������4= U−d ����
��
���������	�����
��� O−d1

'1 x + x �
��	��=
�����������1 ��������" O−d = {u ∈ Q(
√−d) | u +

u, N(u) ∈ Z}1
%1 �� ω =

√−d ,�1�1 �� d � 3 ��� 4." ����
x = a − bω, and so N(x) = a2 + b2d ∈ N.

81 �����
� ω =
√−d" ������� N(x) = n ���������	=��� |b| ≤ √

n/d ��� a =

±√
n − db21 ��������" �� −1 ≤ a, b ≤ 1 ���� N(x) ∈ {0, 1, d, d + 1}1

:1 �� ω = 1+
√−d
2 ,�1�1 �� d ≡ 3 ��� 4." ����

x = a + b − bω, and so N(x) = a2 + ab + b2 d + 1
4

∈ N,

-1 �����
� ω = (1 +
√−d)/2" ������� N(x) = n ���������	=��� |b| ≤

2
√

n/d ��� a = (−b ± √
4n − db2)/21 ��������" �� −1 ≤ a, b ≤ 1

���� N(x) ∈ {0, 1, (d + 1)/4, (d + 9)/4}1

%
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<1 Q(
√−d) �
�����7�	�������������
��� O−d1

51 x ∈ O−d �
��������4	�����������	=��� N(x) = 11
;1 U−1 = {±1,±i}" U−3 = {±1,±ω,±ω2}" ��� U−d = {±1} �����		

����� dI
1
3���$������
�
��������������1 3�����		����������
�������		������/

-���	�!�
���3�0������ #.#.(. B�� R 4����=��������	����������� x ∈ R 4�������

��������
����1 x �
���		�� �	�!� �����������= x, y ∈ R ���� p | xy" ��������������
p | x �� p | y1 x �
���		�� �		������ � �����������= x, y ∈ R ���� p = xy" �������
������ x �� y �
���������	�������� R1 9	���	=" ����=�$������	�������
���������4	�1
3���������
���
�������� R �
�� ��3 ��!
��" ������
" ����������	����������������
����=��������
������	�����
��������������
�������������
���,)9�.1��@����	���	="
��=��������
������	�����
����( �������	��
�����������	��$	��,B9�.1�#���������	
��������
������@������������������������,���. ���������	=��������
��������������)9�
������1

-���	�! #.#.&. 3������� O−d �
����	���������������	=��� d ∈ {1, 2, 3, 7, 11}1
 ���C%&D�������$����1 (���		����������=����	��������������
���$�����$�	�����	

�������,0��. �����������=�0�� ����)9� �����=��������
������	�����
�����4�
�������������������������	���������4���������������1 B����
�	�������������		�����

��		���
�	�
" ���������	��
��$	��=�
�������$�������
��� O−d1
5�!!
 #.#.*. B�� a, b, e, f , k ∈ Z" gcd(a, b) = 1" ��� k � 01 3��� e + f ω ∈
k(a + bω)O−d ���������	=���{

kN(a + bω) | (a + b)e + b f d′, a f − be �������� d ≡ 3 ��� 4,
kN(a + bω) | ae + b f d, a f − be �������� d ≡ 1 ��� 4.

,

����� d′ = (d + 1)/41
0����1  ��������������1 �

5�!!
 #.#.6. B�� m ∈ Z" d ∈ {1, 2, 3, 7, 11}" ��� x ∈ O−d1 �� m | N(x) ����
m | N(gcd((m, x))1
0����1 3������>�
�
 y, z ∈ O−d 
�������� gcd(m, x) = zm + yx1  �

N(gcd((m, x)) = N(zm + yx) = (zm + yx)(zm + yx) =

(zm + yx)(zm + yx) = N(z)m2 + mzyx + yxzm + N(y)N(x).

#
 m ������
�����=�
��������������	���������
���" ������������� m | N(gcd(m, x))1
�

8
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/	���
����� #.#.7. B�� d ∈ {1, 2, 3, 7, 11} ��� x ∈ O−d1

'1 ��������= m ∈ Z" gcd(m, x) = 1 ���������	=��� gcd(m, N(x)) = 11

%1 x �
�$������� O−d �� N(x) �
���$��������4��1 ,��������������
�" 
������
�>��$	������		��=�'1'1'8 ����'1'1'<1.

81 ��������= p ∈ N $��������� p � x ��� p | N(x)" δ := gcd(p, x) �
���$����
�	�������� O−d ������� p1

0����1 '1 #

��� gcd(m, x) = 11  � ym + zx = 1 ����
��� y, z ∈ O−d"
��������� zx = 1− ym ��� N(z)N(x) = N(1− ym) = (1− ym)(1−
ym) = 1 − (y + y)m + N(y)m21 #
 (y + y) ��� N(y) �����������
" ���

��$	��
����� gcd(m, N(x)) = 11 9�����
�	=" �

��� gcd(m, N(x)) = 11
 � am + bxx = 1 ����
��� a, b ∈ Z" ��$	=��� gcd(m, x) = 11

%1 9	���1

81 2���� p = qδ ����
��� q ∈ O−d1  � p2 = N(p) = N(q)N(δ)1 2�
�	����������������N(q) ��� N(δ) ����4���@��	 11 ������ N(q) = 1" ����
q �
��������4	����������� p | δ ��������$	��
 p | x" �������������1 G�����
����������" �
 p | N(x)" �����		��
�4=������4����	��������� p | N(δ)" 
�
N(δ) � 11 ����� N(δ) = N(q) = p1  � δ �
���$������	�������� O−d1

�

2���������������
�����
����
��$	��4�����	$��	����4�����������������
��4���
Q[

√−d]1 2��������������" �
�F�
��������	������
������
�	�
�������
�������
�=��̀�̌��" ,C%%D." �������
��4��� Z[i]" �� O−d1

���
���� #.#.+. '1 B�� d 4���������
@����
�����������	����4������ O :=
O−d1

%1 ��������= m ∈ Z" Zm := Z/mZ1

81 Fq ������
�����7�����7�	������ q �	�����
1

/	���
����� #.#.#8. ,9��$�������C%%D" 3������ 1.�B�� m ∈ N1 3��� O/mO �
Zm[ω]1

0����1 ��7�� πm : O → Zm[ω] 4= πm(a + bω) := [a] + [b]ω ����� [ ] 
���

�����@����	������	�

�����������
�����	� m1 �������4����
�	=�
������������
���$��

��
��F�������������������$��
����� ke(π) = mO1 �

5�!!
 #.#.##. ��������= m ∈ N" �� Zm[ω] �
���7�	�" ���� m �
���$��������4��1
��������" �� d ≡ 1 ��� 4 ���� m �
����" �� d ≡ 3 ��� 8 ���� Z2[ω] � F4 ���
�� d ≡ 7 ��� 8 ���� Z2[ω] � F21

:
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0����1 #

�������� Zm[ω] �
���7�	�1 ����
�������	�������� m �
�$����1 2������

(1 + ω)2 2≡ 1 + ω2 =

{
1 − d �� d ≡ 1 ��� 4,
w + 3−d

4 �� d ≡ 3 ��� 4.
.

�� d ≡ 1 ��� 4 ��� m = 2" ���� (1 + ω)2 2≡ 0" �������������1  ��������
���
�

m � 21 B�� d ≡ 3 ��� 81 3��� 3−d
4 ≡ 0 ��� 2 ��������� 1 + ω2 2≡ω" ����

�
 ω2 2≡ω − 1" 
����������� Z2[ω] �
���7�	������ 4 �	�����
1 ����		=" �� d ≡ 7

��� 8" ���� 3−d
4 ≡ 1 ��� 2 ��������� ω2 2≡ω" ������
" ω

2≡ 1" 
� Z2[ω] �
��
7�	������ 2 �	�����
1 �

(���		���������������������
 a, p" ���� p $�������� p � a" a �
���		���� 4�
�	
���
	�
�����!�� p ��������@������ x2 = a �
�
�	��4	���� Zp1 3���
=�4�	

(
a
p

)
" ��		��

��� 5�����	��
)!�� " �
���7�������4� 1 �� a �
���@�����������
�������� p" −1
�������
�" ��� 0 �� p | a1

/	���
����� #.#.#%. B�� 2 < p ∈ N 4��$����1 3��� O/pO �
���7�	�����������	=
��
( p

d
)
= −1

0����1 6=�	�����'1'1'&" O/pO � Zp[ω]1 9��
����������$����$��
� φ :
Zp[x] → Zp[ω] ��7������� φ(x) := ω1 9	���	=��������

ke(φ) =

{
〈x2 − x + d+1

4 〉 �� d ≡ 3 ��� 4,
〈x2 + d〉 �� d ≡ 1 ��� 4.

.

2����������� O/pO �
���7�	�����������	=��� ke(φ) �
������������4	������	1 6��
x2 + d �
������������4	��$�	=�����	����� Zp ���������	=��� d �
�������@��������
��
�������� p" ���B��������
=�4�	

(
d
p

)
= −1 �������
��@����	������

( p
d
)
= −1

4=�C8?D" ���$��� 5" ������� 11  ���	��	=" x2 − x+ d+1
4 �
������������4	��$�	=�����	

���� Zp ���������	=���
(
−d
p

)
= −1" ,4=�C8?D" ���$��� 5" �>����
� 3.��������


�@����	������
( p

d
)
= −1 4=�C8?D" ���$��� 5" ������� 11 �

��	�  
	) #.#.#'. B�� 2 < p ∈ N 4��$����1 3��� p �
�$������� O−d ���������	=
��
( p

d
)
= −11

0����1 �������������
�@��������������4����$��$�
�����1 �

-
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/	���
����� #.#.#(. ��������=�
@����
�����������	����4�� d � 1, 3" �������
O−d/ωO−d � Z/δZ" �����

δ =

{
d d ≡ 1 ��� 4,
−(d + 1)/4 d ≡ 3 ��� 4.

0����1 ��7�� f : O−d → Z/δZ 4= f (a + bω) := a mod δ1 9	���	= f �
�������
�$����$��
�1 G����������������" 
���� ω2 = ω − δ" ������� ω | δ" ���������
ke( f ) = ωO−d1 �

/	���
����� #.#.#&. ,,9��$�������C%%D" 3������ 2.�B�� a, b ∈ Z − {0} ����
gcd(a, b) = 11 3��� O/(a + bω)O � ZN(a+bω)1

0����1 #
 gcd(a, b) = 1" ������� gcd(b, a2 + b2d) = 1 ,�
���	����� d ≡
1 ��� 4.���� gcd(b, a2 + ab + b2(d + 1)/4) = 1 ,�
���	����� d ≡ 3 ���
4." 
� b �
��������4	���� ZN(a+bω)1 ��7�� φ : O/(a + bωO) → ZN(a+bω)

���� φ(x + yω) := x − ab−1y1 φ �
��	���	=�����$����$��
�
����������������
�����	=��������$
����� a + bω ∈ ke(φ)1 2������

φ(x + yω)φ(u + zω) = (x − ab−1y)(u − ab−1z) =

(xu − a2b−2zy)− ab−1(uy + zx),

���	�

φ((x + yω)(u + zω)) = φ((xu + yzω2) + (uy + zx)ω) =

{
(xu − dzy)− ab−1(uy + zx) �� d ≡ 1 ��� 4,
(xu − zy(d + 1)/4)− ab−1(uy + zx + zy) �� d ≡ 3 ��� 4.

.

���" 
����

a2b−2 N(a+bω)≡
{
−d �� d ≡ 1 ��� 4,
−(d + 1)/4 − ab−1 �� d ≡ 3 ��� 4.

.

���
������� φ �
�����������������$����$��
�1 3��������
��������
�������� ke(φ) =
(a+ bω)O1 B�� φ(x + yω) = 0" 
� x − ab−1y = 0 �� ZN(a+bω)" ��������$	��

bx − ay = 0 �� ZN(a+bω)1 2�������������		������������
�
/

9�
� (1) d ≡ 1 ��� 4" 
� ω2 = −d/ ��������� a2b−2 = −d �� ZN(a+bω)1
3����@��	��= bx − ay = 0 �� ZN(a+bω) ��$	��
�������������K�������� ω �
���
��������������������
�����
�������������		�������>$��

���/

<
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x + yω

a + bω
=

ax + bdy
N(a + bω)

+
ay − bx

N(a + bω)
ω.

������	��$	=��� bx − ay ≡ 0 4= ab−1 ������ ax − a2b−2by = ax − bdy ≡
0" ������
" �������	�$���������� (x+ yω)/(a+ bω) �
��	
������������1  � x+ yω ∈
a + bωO" ����� ke(φ) = a + bωO1

9�
� (2) d ≡ 3 ��� 4" 
� ω2 = ω − (d + 1)/4/ ��������� a2b−2 + ab−1 =
−(d + 1)/4 �� ZN(a+bω)1 3����@��	��= bx − ay = 0 �� ZN(a+bω) ��$	��
�����

x + yω

a + bω
=

ax + ay + by(d + 1)/4
N(a + bω)

+
bx − ay

N(a + bω)
ω ∈ O,

������
" x + yω ∈ a + bωO" ��������� ke(φ) = a + bωO1 �

��	�  
	) #.#.#*. B�� a, b ∈ Z − {0} ���� (a, b) = 11 3��� a + bω �
�$�������
O−d ���������	=��� N(a + bω) �
�$������� Z1

/	���
����� #.#.#6. ,,9��$�������C%%D" 3������ 4.�B�� a" b" ��� k 4��$�
�����
�������
����� gcd(a, b) = 11 0������ x = a + bω" �������

O/kxO = {[e + f ω] | 0 ≤ e < kN(x), 0 ≤ f < k},

����� [ ] ������
������@����	������	�

�����	� kxO1  ���������� O/kxO �
���
����� N(kx) ������
�����������
��� kN(x)1

0����1 2��7�
��
������������������������@����	������	�

�
�������
�����1 B�� u =
[e1 + f1ω], v = [e2 + f2ω] 4���	�����
�������������������
����
��1 �� u = v ����
(e1 − e2) + ( f1 − f2)ω ∈ kxO ����4=�'1'1<

{
kN(x) | (a + b)(e1 − e2) + b( f1 − f2)d′, a( f1 − f2)− b(e1 − e2) d ≡ 3 ��� 4,
kN(x) | a(e1 − e2) + b( f1 − f2)d, a( f1 − f2)− b(e1 − e2) d ≡ 1 ��� 4.

�������7�
����
�" ������

k(a2 + ab + b2d′) | b((a + b)(e1 − e2) + b( f1 − f2)d′) + (a + b)(a( f1 − f2)−
b(e1 − e2)) = ( f1 − f2)(a2 + ab + b2d′),


������ k | f1 − f21  �����4��� f1 ��� f2 �������
�������������
��		������� k"
f1 = f21 3��
 kN(x) ������
�4��� (a + b)(e1 − e2) ��� b(e1 − e2)1 6����
�
gcd(a, b) = 1" �����
������ kN(x) | e1 − e2" ��$	=�������� e1 = e21

�������
��������
�" ���
�������

kN(x) = k(a2 + b2d) | b(a(e1 − e2) + b( f1 − f2)d) + a(a( f1 − f2)− b(e1 − e2))

5
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= ( f1 − f2)(a2 + b2d),


������ k | f1 − f21 3�����
�������������������
�
���	����������$������
���
�1
2������
�����������= u = e+ f ω ��		
����������������
���@����	������	�

�
1

 ���� a ��� b ������	�����	=�$����" �������>�
���������
 s ��� t 
�������� aks +
bkt = k1

B�� d ≡ 1 ��� 4 ������������� (ak + bkω)(−t + sω) = kω − m" ����
���
m ∈ Z1 ������������ f 4= k" ������ f = f1k + r" ����
��� f1, r ∈ Z ���� 0 ≤
r < f 1 3��
 [u] = [e + f1kω + rω] = [(e + f1m) + rω]1 #
 k(a2 + b2d) ∈
kxO" �������� e′ := e + f1m 4= k(a2 + b2d) ������ e′ = e′1k(a2 + b2d) + r′ ���

��� e′1, r′ ∈ Z ���� 0 ≤ r′ < k(a2 + b2d)" 
��������� [e′ + rω] = [r′ + rω]"
0 ≤ r′ < k(a2 + b2d)" ��� 0 ≤ r < f �
���
����1

#

������>������ d ≡ 3 ��� 4 ������������� (ak + bkω)(−t − s + sω) =
kω − m" ����
��� m ∈ Z1 #�������
���	��	=" ������ [u] = [r′ + rω]" 0 ≤ r′ <
k(a2 + b2d)" ��� 0 ≤ r < f 1

�

9"
!� � #. B�� n ∈ N ��� O := O−71

'1 ��� 2 ≤ n" �������>�
� a, b ∈ Z ���� b ������� gcd(a, b) = 1 
��������
ωn = 2a + bω1

%1 ��� 3 ≤ n" �������>�
� a, b ∈ Z" 4�������" ���� gcd(a, b) = 1 
��������
ωn = a + bω1

81 ��� 2 ≤ n" ������� O/ωnO � Z/2nZ" ������� 3 ≤ n" ������� O/(1 −
ω)nO � Z/2nZ1

0����1 '1 ��� n = 2" ����
��	����
���� ω2 = ω − 21 #

���������

����������
n1 2���� ωn+1 = ω(2a + bω) = −2b + (2a + b)ω1 B�� ax + by = 1 ���

��� x, y ∈ Z1  � 1 = (2a + b)x + (y − x)b" 
������ gcd(2a + b, b) =
11 #
 2a + b �
����" �����		��
����� gcd(2a + b, 2b) = 11

%1  ���	����� (1)1

81 �������������� (1), (2) ����$��$�
������'1'1'-1
�

3�����>����������,�����C:&D.��
����������=�����	�

��=��������	
�����������4=
,�������.�$��������4��
��� O−d/

-���	�! #.#.#7. B�� d 4����
@����
�����������	����4������ p ∈ N 4����$����1
3������������������		��������
�
/

;
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'1 �� p �
�������� p � d ����

pO−d =

{
〈p, n +

√−d〉〈p, n − √−d〉 ��
(
−d
p

)
= 1,

prime �������
�.

%1 �� p | d ���� pO−d = 〈p,
√−d〉21

81 �� d �
���������

2O−d =

⎧⎪⎨
⎪⎩
〈2, 1 +

√−d〉2 �� −d ≡ 3 ��� 4,

〈2, 1+
√−d
2 〉〈2, 1−√−d

2 〉 �� −d ≡ 1 ��� 8,
prime �� −d ≡ 5 ��� 8.

0����1 3��
���		��
�������	=������$��$�
�����
�'81'18�����'81'1:" ,$1 '?&.����C8?D1
�

3�����		��������4	��������	�
�
�
����������������,���	�������		��	�����
���
���� 1, 2 ��� 3.��4�����������	����� O−dI
���		�4���
���	�����@��������������
1

3�4	� '1'/
d ' % 8 5 ''
ω i

√−2 (1+
√−3)/2 (1+

√−7)/2 (1 +
√−11)/2

N(a + bω) a2 + b2 a2 + 2b2 a2 + ab + b2 a2 + ab + 2b2 a2 + ab + 3b2

�	�����
�������� 1 ±1,±i ±1 ±1,±ω,±ω2 ±1 ±1

�	�����
�������� 2
±(1 + i)"
±(1 − i)

±ω ±ω"±(1− ω)

�	�����
�������� 3
±(1 + ω)"
±(1 − ω)

±(1 + ω)"
±(2 − ω)"
±(1 − 2ω)

±ω"±(1 − ω)

?
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'1% 0	���
������7�	�
2��� F �����		����������7�	���������� d ��=�
@����������������	����4��1 ��	�


�������
��
�����" p ������
���$��������4������ O := O−d1 2���	
����7��

O[
1
p
] := {a/pk | a ∈ O, k ∈ N ∪ {0} }.

3��
�
��������
������������7>�
������������
������������	��=���������		�
���
4�
�������
��4������	����7�	�
1 2����������
����
��������
����������>�����$���
1
���������	
�����$��������������
�	�
" 
��������>��$	��C:%D" ���$��� 61 2��
���������
������7�����������4
�	������	��/

3�0������ #.%.#. B�� | | : F → R≥0 4������$1 9��
�����������		���������������
/

'1 |x| = 0 ���������	=��� x = 0 ��������= x ∈ F1

%1 |xy| = |x||y| ��������= x, y ∈ F1

81 |x + y| ≤ |x|+ |y| ��������= x, y ∈ F1

:1 |x + y| ≤ max{|x|, |y|} ��������= x, y ∈ F1

9���������,3.��
���		������ �	�
�� �����4�
 ��) ��������������,4.��
���		������ � �
�	
!��	������4�
 ��)1 3�����$ | | �
���		����� 
�
� �����
 �� �� ��	! �� F �����

���
7�
�,1." ,2." ,3.���� (F, | |) �
������
�������4��� �
 ����0� �1 #���4
�	������	��
�
���		�� �����	���!���
� ������
���
7�
�,4." �������
�" ����
���		�� �	���!���
�1

2���������	�������������@��	��=���	�
" ���� |x+ y| = |x| �������� |y| < |x|1
3���������	��4
�	������	����� F �
���7����4= |0| = 0 ��� |x| = 1 �����		 0 � x ∈ F"
�������
����
#����������1 #�=��4
�	������	��������7�	������
���
�������,������.
��$�	��=" ���$���4	�����������7�	���$�������
/

/	���
����� #.%.%. B�� | | 4������4
�	������	��������7�	� F1 3����������$�	��=���
F ��������4=������

�������������� d(x, y) := |x − y|����
 F ���������$�	�����	
7�	�1

2��
��������������������������
��������	������" �������
��	�
�	=���	�����������
�����������4
�	������	��1

3�0������ #.%.'. # ��
�	�����
 �
���� �� F �
�����$ v : F → Z ∪ {∞} 
���
����������		 x, y ∈ F"

'1 v(x) = ∞ ���������	=��� x = 01

%1 v(x + y) ≥ min{v(x), v(y)}1

'&
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81 v(xy) = v(x)v(y) 1

3�� �
 �
�����	��� �� F �
���7�����
�����
�4���� Fv := {x ∈ F | v(x) ≥ 0}1
����
���$�����$�	�����	����������� F �
���
�7�	�������������
1 3�� �
 �
��������
 ��
v �� F �
 Pv := {x ∈ F | v(x) > 0}1 ����
��������@�����>���	�����	��� Fv ���
�
�����������4=���=��	����� x ∈ F ���� v(x) = 11 3�� 	�
������ 


�0� � �� v
�
�����7�	� Fv/Pv1

#�=���
��������	���	���
���������
#������������4
�	������	��/

5�!!
 #.%.(. B�� v 4������
��������	��������� F1 ��������= 1 < r ∈ R" ��7��
|x|v,r := r−v(x) �� 0 � x ∈ F ��� |0|v,r := 01 3��� | |v,r �
������
#����������
�4
�	������	����� F1

�������4���O=�
���=����������������
" �
��������
����	�
����	�����
��$�4�

��������
��������	������
���7�����������7�	�������������
���������������������
������
����
�����$���������	
1 2����		���������
������
�	����" �
$����		=�������
$��������%1<181  ��7�
���������		���������

��=�4�
�����7������
1 B�� R 4���������

���	�������" ����	�� F 4����
�7�	�������������
1 # �	
�����
 ����	��� R �
����������
7����	=���������� R

�4����	���� F1 # ���������	�����	 I �
������������� R ������
��	=��������
����,integral.�����	����(1�(���		������� 3����������!
�� �
��������

���	�������" �������
�������7�	�" �����		������
����������	�����	
������������4	������
��
$�����������
�4����	����	��$	�������1 �@����	���	=" �������������������
���
�������	���������������
�������7�	�" �
��������		=��	�
��" ����������" ������
�+��		
�����
��������,�1�1 ����=����
�����$���������	��
���>���	.1 #��������@����	���
��7��������
�������������������������
�����������	���������������
�������7�	�"
�����������������=����
�����$��$�������	�������
��������$����������$���������	
1 ��
����4��
����������
���������������������
����������

���	=����@����$�������������
�������������
1 B�� D 4�������������������" ����	�� F 4����
�7�	�������������
1
������=����������	�����	 M �� D" �������>�
�
�
��� a ∈ D ���� aM ⊆ D" ���
���� aM �
��������	��� D1 �� M �
���=������������������	�����	" ����������7��
M−1 := {x ∈ F | xM ⊆ D} ��� M0 := D1 ����
������
��������������	�����	"
��� MM−1 = D1 ���$������	��" ����������
��������������$����
��������	
��� D
�������
�����
�	=��������������=�
��������	 I �D ������������= j ∈ Z" I j+1 ⊆ I j/

· · · I2 ⊆ I ⊆ D = I0 ⊆ I−1 ⊆ I−2 ⊆ · · · ,

������������= x ∈ D" (Dx)j = Dxj1
����=����
��������������	�����	 M �� F �
������������

M =
l

Π
i=1

Pki
i ,

''
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������
����4	��
�� {P1, · · · , Pl} �����
���������
�����$���������	
��� D �������

����4	�����
���� integer �>$�����
 ki1 3��
��>$��
�����
����@����$�������������
�������������
" ��������=�
�����>$��

�����
������������	�����	1 ���$������	��" ��
0 � x ∈ F" ���������$�����$�	����������	�����	 xD ��
������������������
��4���1 ��
P �
������
�����$���������	��� D" ���	�� vP(x) 4�������>$�������� P �������$����
���������������� xD1 2���	
����7�� vP(0) = ∞1 3���/
/	���
����� #.%.&. 3�����$ vP �
�����
��������	��������� F" �����" �������" ��7��

�����
#������������4
�	������	�� | |P,r �� F ,��������= r > 1.1 ��������" ���

�� S := D − P ��������
����� {x ∈ D | vP(x) = 0} �����������	���	�������
S−1D �
�����������
���
�4������� F" �����������	����������� FvP ��������
�����
S−1D ������
���	�����������	���������
����� S−1P1

3�����		������
��$	��	������
��������
���	/
5�!!
 #.%.*. B�� P = pD 4����$�����$�	�$���������	������������������� D" ���

��� p ∈ D1 3������������= j ∈ Z" 1 < r ∈ R" ��� x ∈ D �������/

'1 �� vP(x) = j" ������������>�
�
 z ∈ D 
�������� x = pjz ��� p � z1
%1 x �
��� Pj ���������	=��� vP(x) ≥ j1
81 �� x �
��� Pj 4��������� Pj+1" ���� vP(x) = j1
:1 vP(pj) = j" ����
� |pj|P,r = r−j1

0����1 ,1.������$�
� xD = PjPc1
1 · · · Pcn

n ���� ci > 0" ��� P, P1, · · · Pn ��
�����
���
�����$���������	
1  ���������
 z ∈ Pc1

1 · · · Pcn
n 
�������� x = pjz1 B��

z = pz1" z1 ∈ D1  ���� D �
������������������" ����=����
�����$���������	
�������
���>���	1  ���� P, P1, · · · Pn ������
�����" ������������� p � Pi ��������=
i1 ����4=���>���	��=�������� Pi" �������
 ti ∈ D �
���		��
 pi ∈ Pi 
��������
ti p + pi = 1" 
�

1 = (ti p + pi)
ci = tci

i pci + ppiu + pci
i ,

����
��� u ∈ D1 ��	��$	=�������
���@������
���������" ������
1 = (t1p + p1)

c1 · · · (tn p + pn)
cn = gp + pc1

1 · · · pcn
n ,

����
��� g ∈ D1 ��	��$	=����4= z1 ��������������� pz1 = z ∈ Pc1
1 · · · Pcn

n "
���
������� z1 ∈ Pc1

1 · · · Pcn
n 1 �����" x = pj+1z1 ∈ Pj+1Pc1

1 · · · Pcn
n " ������


xD = Pj+1Pc1
1 · · · Pcn

n " ���������������������@����

��������	������$�
��������
D1

,2.�B�� vP(x) = n1 6=�$��� 1" x = pnz ����
��� z ∈ D ���� p � z1 �� x ∈ Pj

��� n < j" ���� p | z" �������������1 3��������
������	�
�����
��	���1
����		=" ,3.��
����������������
�	�����$��� 2 ����,4.��
��	����4=�$��� 11 �

'%



'1%1 0B#9� G� # ���B�

3�����>��$��$�
������	�
�
�
�������������
����$�������$��$�����
�������
���	

������/

/	���
����� #.%.6. B�� D 4������������������������������
���
�4����������
�7�	�
�����������
 F1  �$$�
������ v �
�����
��������	��������� F" ��������
�4���� Fv ��
F �������
 D1 3���/

'1 P := D ∩ Pv �
������
�����$���������	��� D"

%1 3����

����������
��������	������ vP ��������
����� v"

81 PFv = Pv"

:1 D �
����
���� Fv ��� D/P � Fv/Pv �
�7�	�
"

-1 Pn �
����
���� Pn
v ��������= n ≥ 1" ���

<1 R + Pn
v = Fv ��������= n ≥ 11

3����4
�	������	��
 | |1 ��� | |2 �����7�	� F ����
�������4� �4���
 ��� ��
�������>�
�
���$�
���������	����4�� c 
�������� | |1 = (| |2)c1 �����>��$	�" �� v
�
�����
��������	��������� F" ����������		 1 < r ∈ R" �����4
�	������	��
 | |v,r
�����@����	���1 �@����	�����4
�	������	��
�=��	������
������$�	��=��� F1 ����=
�@����	������	�

�����4
�	������	��
���������4���7�	� F �
���		���� � 
�� �� F1 #
$	�����
���		�� �	���!���
� �� �����	���!���
� �����������
����������
$���

�����4
�	������	��
�����#�����������������
#����������1 B�� F 4�������4��
7�	����� O 4����
����������������
1 2����=��������=�����
���������
#����������
$	���
��� F ���������
���������
�����$���������	
��� O �����������'1%1- �������
��		�����/

-���	�! #.%.7. B�� F 4�������4���7�	����� O 4����
����������������
1 3�������
��	=���
��������	������
��� F ������� vPI
" ��������=����
�����$���������	 P ��
O1 �����" ����=����������	����
#������������4
�	������	����� F �
��@����	������
| |P,r ����
�������
�����$���������	 P �� O ,������= 1 < r ∈ R.1

���������������������������������#�����������$	���
1

-���	�! #.%.+. B�� F 4�������4���7�	������ [F : Q] = n" ����	���������4� r1
��
������7�	����$
��� F ���� R ��� r2 ���$	�>����F������$���
������
������7�	�
��$
��� F ���� C1 3���

'1 r1 + 2r2 = n1

'8



'1 #B)�6(#�9 ���6�( ���B� 

%1 �����
����7�	����$ f ������
����#������������4
�	������	����� F 4=���


������������� R �� C ,������
" | | ◦ f " ���� | | 4����������������=��4
�	���
��	��." ����������	=��@����	����
������������
������$���
����7�	����$
���

	�����4=����$	�>����F�������1

81 3�����
�	�������		��������� r1 + r2 �4
�	������	��
��>���
�
�����#����������
�4
�	������	��
��� F" �$�����@����	����1

2��
$����	���������4���������������������
���������������
�" �1�1 Q(
√−d)"

�����	�
�����
�
������1

��	�  
	) #.%.#8. 3������4���7�	� Q(
√−d) ,������=�
@����
�����������	����


4�� d.���
���	=�����#�����������$	���
" ,�����������@����	���". �����
$���������
�����4������ Q(

√−d) → C ������
����F�����1

':



% PSL(2, C) 
�����
���
�	����
���	���


B�� d 4����
@����
�����������	����4��1 9��
�����������������=�@������������

4���7�	� Q(

√−d) ����	�� O−d 4����
����������������
1 3�������$
 Γ−d :=
PSL(2,O−d) = SL(2,O−d)/{±I} ������		�� ��
������	���
 ,��1 C'&D" C''D.1
3��
��	�

��������$
��
����������
��������=���L����������
1 ������4��������=����=
������		=�������$��������
���=����B
��������
������		�$���������
�,
��������>��

$	��C';D" C%?D" C%;D" C8&D" C8:D" C'&D.1 �����$�	��=" ���=�������$��������������
���=
�� 3
������	�
" �
�����=����
���
�����
�4����$ G � Γ−d ���
�$��$��	=" �����

������
	=���������	=��� H ��� G/H �
���������$�����=$��4�	���(���������
3
������	�1 ,��1 C<-D" C<<D" C8'D.�����		=����=������	
��������
�����������������
����$�����������	�������,
��������>��$	��C%:D"C%-D.1 6�����������$
�����4�����
��

������
�����������	����������������	�

���	�����	�������$ Γ1 := PSL(2, Z) ,C'5D.1
��� d ∈ {1, 2, 3, 7, 11} ��������
 O−d �������	����������
��������������
$���

����6�����������$
�������		�� Euclidean Bianchi groups " �����������
���	��
$��$�����
������������	�������$�,C%:D.1

������
����$���" 7�
��������������
����4�
������
��������
���	��������6������
����$
����
������ 2.1" ��������	����
��������$�����������	�$��$�����
����,��

�	�����.�6�����������$
����
������ 2.21  ������ 2.3 ������
������������
�4����$

�������������������
�4����$�$��4	��1 ���
������ 2.4" ���
���=���������������
�	�
���������
�4����$��� Γ−d1 ���
������ 2.5 ���$���������$��������

����
$�

��7��@�������
�������	������6�����������$
�������
������
����$��$�����
���������
�����������
�4����$
1 ���
������ 2.6 ���$��������������������
�4����$�$��$

���=�������������$
 SL(2,O−d[

1
p ])" p ∈ O−d $����" ��������		�4��������������

��>�����$���1 7��		=�����	�
�����
����$����4=�
������ 2.7" �������������
�����

$������	��4���
=
����)#0 ������$��������	���	����
����7���������>�
�4����$
���
PSL(2,O−1) ��� PSL(2,O−7)1

%1' 6�
������
��������

B�� X 4�����������
$������� G ������$�����������P 1�# ����	= {Mi | i ∈ I} ��

�4
��
��� X �
���		��  ��
  )�0���� �����=����$����
�4
������P ����
���	=�7����	=
���=������� Mi I
1 2��
�=����� G ���
 �	���	 )���
���������
 ) �� X �������
��
����		 G
��4��
��� X �
�	���		=�7����1 # �	�
�������������
�4
�� F �� X " ����

'-



%1 PSL(2, C) #�� �3 �� 9(�3�  �6)(G�0 

int(F) � ∅" �
�� ����
!���
 ���!
�� ����,�������������. G �� GF = X ���
int(F) ∩ g(int(F)) = ∅ �����		 1 � g ∈ G1 ����������	�������
�����
$����		=
�
���	�����7������7�������$��
��������
��������$
1
3�0������ %.#.#. # 
�4����$ Γ �� PSL(2, C) �
�
�������4� ��
�	��� �������������

���
�@����������������
�������������	�����
��
����������������=1 ��
������
�4

����$
��� PSL(2, R) ������		�� $���
�
���	���
1 �����>��$	�" PSL(2, Z) �
��
����
��������$1

B�� H2 := {z ∈ C | Im(z) > 0} ,�@��$$����������� �)��	�� ���!��	��
ds2 = dx2+dy2

y .�4����� /����
	�́�1����	2��
 ��� 
��1 # ������������� H2 �����
�	�
������$��
����
�,�=$��4�	��.���
�������
���		����� �
�!��	)1 3�������$ PSL(2, R)
���
��� H2 4= :�̈���
��	
�
��	!
����
" �����������
�������
/(

a b
c d

)
· z :=

az + b
cz + d

.

3�������$�����		��
�������
��� H2 �
���������4= Isom(H2)1 3��
�����$��

����������4= PSL(2, R) ��������������������$ z �→ −z ����������� [Isom(H2) :
PSL(2, R)] = 21

 ���	��	=" 	�� H3 := C ×R+ 4����� 3
�����
����	��=$��4�	���
$������������
�=$��4�	���������/

ds2 =
dx2 + dy2 + dr2

r
.

3�������$ PSL(2, C) ���
��� H3 ���������		��������=/
(

a b
c d

)
· (z, r) :=

1
N
((az + b)(cz + d) + acr2, r), where N := |cz + d|2 + |c|2r2.

���������
�������������=$��4�	�����������
����������1 #�������������$�����		
�
�������
��� H3 �
���������4= Isom(H3)1 3��
�����$��
�����������4= PSL(2, C)
��������������������$ (z, r) �→ (−z, r) ����������� [Isom(H3) : PSL(2, C)] =
21 3�����		������$��$�
������
���
���������������
��
���=���
������
�4����$
���
PSL(2, R) ��� PSL(2, C) ,�1�1 6�����������$
.�����
��������
����1
/	���
����� %.#.%. B�� G 4�������
��
������
�4����$��� PSL(2, R) ,��
$������	=
PSL(2, C).1 3�����������
��������������	������������������������� G �� H2

,��
$1 H3.1
0����1 B�� {gn} 4����
�@�������� G ��������������
��	�����
��
����������������=
����	���� 4��������������	������������������������� G1 9��
���������	����� x
�� int(F)1  � {gnx} ��������
��� x1 �������������
 m ∈ N 
�������� int(F) ∩
gm(int(F)) � ∅" �������
���$�

�4	�1 �

'<
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3������
���
=
����������=����$�������
������
������
�4����$
��� PSL(2, C)/
���F�
����������7�������
������
�4���� A �� C ,���� 1." ���� PSL(2, A) �
��
��
������
�4����$" ���" �����������������" ��
������
�4����
��� C ,���� 1.����
���$	���	=������/

/	���
����� %.#.'. '1 ��������=���
������
�4���� A �� C �������������������
�	�����" PSL(2, A) �
�����
������
�4����$��� PSL(2, C)1

%1 3�����
������
�4����
�,���������.��� C ��� Z ���O±d,m ,
���$������
����$

���." ����� d �
���
@����
�����������	����4������ m �
���������	����4��1

������$����" 
���C'?D1

���
���� %.#.(.

'1 Γ−d,m := PSL(2,O−d,m)1

%1 Γ−d := PSL(2,O−d)1

81 Γ1 := PSL(2,O1) = PSL(2, Z)1

3��
�����
��
����	�

������
������
�4����$
��� PSL(2, C)1 3�������$ Γ1 �

�������
���� !��� 
	��	���1 3���
��������������������	�������$��
���		������


����1 �����>��$	������
��
����$����������������$���������������=�	�������$
 Z/2
��� Z/3" ������
���$��
�������� Γ1 =< x, y | x2 = (xy)3 = 1 >1 0�����
��
�����7�
����������
���������������$ Γ−1 = PSL(2, Z[i]) ���';;8" �������

����$��
��������
���� /��
	���	��� ,C-'D" C-8D.1 �����������	���
���=��������0�����
����$" 
���C%:D�����C%8D1 3�������
O−d ������������
�����������
 ���������������=
@������������4���7�	�
 Q(

√−d) ���" �
�����������4�����" ��������$
 Γ−d ���
��		�������6�����������$
1 3�������
 O−d,m ��� m ∈ N ���������
��� Q(

√−d)
������������$
 Γ−d,m �������7���������>��������6�����������$
1 , ���C-?D������
���$�����
����
���=������
������
�4����$
��� PSL(2, C)1.

%1% #	��4�����
���������������	������6�����������$

��		������������������6�������C''D��������4����C8;D"  ����C<8D����������������

�����	�������
�������������������6�����������$
���������=$��4�	�� 3

$�������
�
������
������������	�������
����7���7�����$��
��������
�����6�����������$

Γ−d ����
����
��		���	��
��� d" ���	����
�$������$���	=��	��4��������������

������4=�01�1�9����C'5D��������	������6�����������$
1 # ���$�������$	������

�������� ���I
����������
�������4=�(1�(�	�=�C-<D1 �����������	�����
��

����������
�	��4�����
������������6�����������$
" 	�������C%-D�����C%:D1 B����
�
���������
���=
4=�7>����
����$��
��������
��������	������6�����������$
1 3��������������

'5
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��������
��4��������������$�
��������" ������7���������7���������>�
�4����$
"
���������������	������4�	����
�4����$
1

(���		������
������ 1.1 ������������� O−d ��
�� Z
4�
�
����
�
������� 1 ���
ω" �����

ω := ωd :=

{
i
√

d �� d � 3 ��� 4 ,�L −d � 1 ��� 4. ,
1+i

√
d

2 �� d = 3 ��� 4 ,�L −d = 1 ��� 4..

��7���������		�������������������
��� SL(2, C)/

A :=
(

1 1
0 1

)
, B :=

(
0 1
−1 0

)
, Cd :=

(
1 ω
0 1

)
, J :=

( −i 0
0 i

)
,

����	�� a, b, c := cd ��� j 4��������
$������������
��� A, B, C ��� J �� PSL(2, C)1
B����
�	�
����$��
����������������������������	������6�����������$
����������		�����
�������1 2��������$��
��������������������	�������$ Γ1 ����	��������������
1

-���	�! %.%.#. 3������	������6�����������$
 Γ−d" d ∈ {1, 2, 3, 7, 11}" �������
����	�������$ Γ1 ����7����	=�$��
�����1 ��������" ���=������������		������$��


��������
/

Γ1 =< a, b | b2 = (ab)3 = 1 >,

Γ−1 =< a, b, c, j | b2 = (ab)3 = [a, c] = j2 = (aj)2 = (bj)2 = (cj)2 =

= (cbj)3 = 1 >,

Γ−2 =< a, b, c | b2 = (ab)3 = [a, c] = (bc−1bc)2 = 1 >,

Γ−3 =< a, b, c | b2 = (ab)3 = [a, c] = (acbc−2b)2 = (acbc−1b)3 =

= a−2c−1bcbc−1bc−1bcb = 1 >,

Γ−7 =< a, b, c | b2 = (ab)3 = [a, c] = (bac−1bc)2 = 1 >,

Γ−11 =< a, b, c | b2 = (ab)3 = [a, c] = (bac−1bc)3 = 1 >,

����� [x, y] ������
��������������� xyx−1y−11

������$����" 
���C%:D�����C8'D1
���
���	��4���������������������$
 Γ−2" Γ−7" ��� Γ−11 �����$�
���
����


������	����	�������������$������
 " �
���		��
���� �>���
���
 " 
���C%:D1 ������

���
�" Γ−3 ��
�����������$�
�����������
������
������	����	�������������$������
�����
������� �>���
���1 3��
���
�$������4=� �����C<'D�����,����$������	=.�4=
+����

����� �	�����C%:D������$�������4��������	���=��
��������$��
�����������
Γ−31 �������" Γ−3 �
 virtually �����
������	����	��������$������" �1�1 �����
��

�4����$����7���������>��������
������
������	����	�������������$�������,��1 C%8D
����C-?D.1 3�����		���������������
������C-?D" 
������ 3.4/

';
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-���	�! %.%.%. 3�������$ Γ−3,2 = PSL(2,O−3,2) �����$�
�
��
������
������	
�����$���������������	��������������
������� �>���
���������������/ [Γ−3 :
Γ−3,2] = 101

��>��������
�����7�����
�4����$
�������	������6�����������$
1 3�����	=�$�



�4	� f inite 
�4����$
��� Γ−d ,�		��.���� Z/2" Z/3" D2 := Z/2 × Z/2" ���

=������������$ S3" ���������	��������������$ A4 C8'D1 �����$����
�	=" �������/

-���	�! %.%.'.

'1 Γ−1 �������
��		�$�

�4	���=$�
����7�����
�4����$
1

%1 Γ−2 �������
 Z/2" Z/3" D2" ��� A4" 4������ S31

81 Γ−3 �������
 Z/2" Z/3" A4" ��� S3" 4������ D21

:1 Γ−7 �������
���	= Z/2" Z/3" ��� S31

-1 Γ−11 �������
���	= Z/2" Z/3" ��� A41

<1 3������4���������F����=��	�

�
����7�����
�4����$
��� Γ−d �
�7����1

3����4����������������
��	
��
�����������������4�������
���
�����
�4����$

���7���������>��� Γ−d/ B�� H 4��
������
�4����$1 #�=�7�����
�4����$ K �� Γ−d
���
�����	=��������
��������
��
 Γ−d/H ����
� |K| ������
 [Γ−d : H]1 3��
��
�F�
�
���
$����	���
�����������		�����

/	���
����� %.%.(. B�� H 4����7���������>����
���
�����
�4����$���������4�����=
����$ G1 3������������> [G : H] �
�����
�4	��4=�����	��
�����������	��$	��,lcm.
������������
����7�����
�4����$
��� G1

B����
�����4���O=����	=��������	�
�4����$
�������	������6�����������$
1 ���
�
����		�����		������,C%'D.�������=�������	����4�� n > 1 ������=�7�	� F" ��������$

PSL(n, F) ����
��$	���>��$� PSL(2, F2) �������
��
����$�����������
=�������
����$ S3 ��� PSL(2, F3) �������
��
����$������������	��������������$ A4 ,���
��
�������$$��
���������$	��� F �������	���	�,�����4�����=.�����" 	�������C-?D.1 ���
��	=�����6�����������$
����

��$	�" 4������=������$	���=���������	�
�4����$
1
�����>��$	�" �
�����
�	���������
$���7����� �����$�
�����
��� Γ−2" Γ−7" ���
Γ−11" ���
������$
�����������	�
�4����$
������=�����������> n C%:D1 G������
�
���
��
����������
�����4������������	�������$���� Γ−1 ��� Γ−3" ���������������
����
����7�������$
��������$�

�4	��������
���������	�
�4����$
" ��1 C%-D1 3��
��		��������������
��������
����
������
������$����
����=/

'?
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/	���
����� %.%.&. '1 Γ−1 ��
���������	�
�4����$��������> 3" 8" 12pk ,���� p
$�������� p � 2, 3, 5, 11." 36pk ,���� p $�������� p � 2, 3, 11, 17." 12pkqj

,���� p ��� q $����
�
���
�=��� 1+ pt � 12qj �����		 t ��� p, q � 2, 3, 5, 11."
������= n > 12 ���� 12 � n

%1 �������� n ∈ N �������>�
�
��������	�
�4����$��������> n �� Γ−d ���
d ∈ {2, 7, 11}

B����
��	�
�����
�
�������4=�������		������������
�	�
������C%:D��4�����4�	���

�4����$
����6�����������$
/

-���	�! %.%.*. 3�����	=��4�	����
�4����$
��� Γ−d ,�		 d.������=�	��" D2" �������
�4�	����������� ≤ 21 ���$������	��"

'1 #�=��4�	����
�4����$��� Γ−2 �� Γ−11 �
��
����$������������� Z/2" Z/3"
Z" Z × Z, D21

%1 #�=��4�	����
�4����$��� Γ−7 �
��
����$������������� Z/2, Z/3, Z, Z ×
Z1

/	���
����� %.%.6. ����=�
�4����$����7���������>��� Γ−d ,�		 d.��������
�������
�4�	����
�4����$�������� 21 �����" �
�����=�
�4����$���������������$��
�����
,���	
��
 ���������������." �����		��
��������
�4����$����7���������>��� Γ−d ���

����4������1

%18 9����������
�4����$

B�� n ∈ N" n > 1" ��� d 4����
@����
�����������	����4��" �������1 (���		
������������������� O1 := Z ,%1'1:." ������7���������		������
�4����$
���
SL(n,O−d)/ B�� a 4����$��$������
���������	��� O−d1 9��
���������������	
�������$��
� resa : SL(n,O−d) → SL(n,O−d/a) �4�������4=���
��������
��� a1 3��������	��� resa �
���		������ �	�����
 �� ��  �����	������
���	��� ��
 ��� a �����
���������4= SL(n,O−d, a)1 ����
��������	�
�4����$��� SL(n,O−d)
���7���������>�,
���'1'1'.1 �����>��$	�/

SL(2,O−d, a) :=
{ (

a b
c d

) ∈ SL(2,O−d) | (
a b
c d

)
=

(
1 0
0 1

)
mod a

}
.

3��
��
�4����$
�����������
���4����
�7����
����>������	�
�4����$
���
SL(n,O−d)1 ��������� SL(n,O−d, a) = res−1

a ({1})" 
���������������	�������

���
���������4=���$	����� {1} ������������������	�
�4����$/ �� G �
���=�
�4����$
�� SL(n,O−d/a)" ���� res−1

a (G) �
���7����
����>�
�4����$��� SL(n,O−d) ,���

������� SL(n,O−d, a).1 ����
���		���� ����	������
���	���1 �@����	���	=" G �
��

%&
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�����������
�4����$��� SL(n,O−d) �� G �������
�����		������������
�4����$1
3������
���
���	���
���=���� PSL/ 	�� π : SL(n,O−d) → PSL(n,O−d) 4�����
��������	�
��F���������� a �O−d1 ��7�� Γ(n,O−d, a) := PSL(n,O−d, a) :=
π(SL(n,O−d, a)) ������		��������$�����$�	������������
�4����$��� PSL ���	���	
a1 #����" ��
�4����$ G �� PSL(n,O−d) �
���		���������������� G �������
�����		
�����������
�4����$1 2��
������������
�����������	�
�	=���	���������������	���	
����������������
�4����$����������		��������7������" �����
	����	=������������	

��
�/

3�0������ %.'.#. B�� R 4���������������������������������� a �����
���������	���
R1

'1 9��
�����������$ resa : SL(n, R) → SL(n, R/a) �4�������4=���
��������
��� a ,
���C<D����$����-������������	���
���=�������
���$.1 3��������	���
resa �
���		������ �	�����
 �� ��  �����	������
���	��� ��  ��� a �����

��������4= SL(n, R, a)1

%1 B�� π : SL(n, R) → PSL(n, R) 4��������������	�
��F�������������7��

Γ(n, R, a) := PSL(n, R, a) := π(SL(n, R, a))

������		������� �	�����
 �����	������
���	��� �� PSL ��  ��� a1 ����
��
�����	�
�4����$��� PSL(n, R) 
���� π �
�
��F������1 ����
���
=����
�������
Γ(n, R, a) �
�F�
�����������	����������
�����������$ resa : PSL(n, R) →
PSL(n, R/a)1

81 # ����	������
���	��� H �� SL(n, R) �� PSL(n, R) �
���
�4����$������
�������
�����		������������
�4����$ SL(n, R, a) �� PSL(n, R, a) ��
$��

����	=" ����
��� non
zero ����	 a �� R1 �� a �
���>���	���������������	

����������
�$��$���=" ���
�=����� H �
��������������  ��� a1

���$������	��" ���� R = O−d" ����=������������
�4����$��
����7���������>
,'1'18.1 2����
��4�����=�������	��4����������L����������4������������������ SL
��� PSL1 3�����		������	�����,�����C-?D" 6.4.�
���
�������������
���
��$	����	�

�����4������������������
�4����$
��� SL(n, R) ��� PSL(n, R) ���
������
�
1

5�!!
 %.'.%. B�� N 4����
�4����$��� SL(n, R)1 �� N �
�������������� SL(n, R)
���� π(N) �
�������������� PSL(n, R)1 9�����
�	=" �� π(N) �
��������������
PSL(n, R) ���−I ∈ N ���� N �
�������������� SL(n, R)1 �����=�������
����
�
"
N ��� π(N) ���������
����	���	1

0����1 �� N �
�����������" 
�= SL(n, R, a) ⊆ N ����
��������	 a" ����

Γ(n, R, a) = π(SL(n, R, a)) ⊆ π(N).

%'
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9�����
�	=�
�$$�
� Γ(n, R, q) ⊆ π(N) ����
��������	 q1 B�� x ∈ SL(n, R, q)1
 � π(x) ∈ π(N)" �������������
 y ∈ N 
�������� x = y �� x = −y1 ������
	��������
�" 
���� −I ∈ N" x ∈ N1  � SL(n, R, q) ⊆ N1 �

������
�������������$������	��	=�������
�������������
� R = O−d, n = 2 ���
��������$
 PSL1 3�����		�������������" �����C%:D" �		��
��
�������$�������
����>������$�����$�	������������
�4����$1 ,(���		��������� d ∈ {1, 2, 3, 7, 11} ���
����
 O−d �������	����������
�,C%:D.�����
������=�����	��� O−d ������
����
�
��

$�����$�	1.

/	���
����� %.'.'. ,������������	�.�B�� d ∈ {1, 2, 3, 7, 11} ��� z ∈ O−d1

'1 2������

[Γ−d : Γ(2,O−d,< z >)] = ρ · |z|3 · ∏{1 − 1/|p|2 | p prime, p | z},

�����
ρ :=

{
1 �� z | 2 ,
1/2 �������
�.

���$������	��"

%1 �� p ∈ O−d �
�$����" �������������= n ∈ N"

[Γ−d : Γ(2,O−d,< pn >)] = ρ · |p|3n−2 · (|p|2 − 1).

81 |z| | [Γ−d : Γ(2,O−d,< z >)]1 ��������"

:1 �� < z >�< ω > ��� d = 2 �� < z >�< 2 > ��� d = 7, 11 ����
Γ(2,O−d,< z >) �
����
���
����1

0������
	=����������$�����	���	���
���	=���7�������������������
�4����$

�
���������
���1 ��		���������������������������
������$����
��>������������4�

����=�
�4����$
��� SL(2, Z) ���7���������>�4=�2��	������C<?D" C5&D1 3��
���
�4���
������	������� PSL(n,O−d) 4=�)������	������ ���������C8%D1 )�����	���������
�����$�����	���	���������������
�4����$
" �����������L�����������������������

���������������������������4�����=�
�4����$��� Γ−d ���7���������>��
�����������1
2���
�����
�����������
������ 2.6 ������$����
����
�4����$I
�	���	
��� Γ−7 ���
Γ−1 ����
������������=���������������1 B����
�
����������
�����������	��=����
$�������
�����	�������=���
�	�
/

3�0������ %.'.(.

%%
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'1 ����������	= {Xα | α ∈ A} ,����
��������>�
�� A.����
�4
��
���������4�����=
����$������7������ ;��� ������
�����	=" ��������4= ∨

α∈A
Xα" �
�����
�4����$

����������4= ⋃
α∈A

Xα1

%1 ������
�4����$ H ��������4�����=�����$ G" ������������� ��	!
 �� �
�	�
�� H �� G 4= HG1 3��
��
����������
�����������		������	�
�4����$
��� G
���������� H1 #
�����������
���$����" HG =< ghg−1 | g ∈ G and h ∈
H >1

81  �$$�
� a �
������
���������	���������������������� R ���������1 2����7��
����
�4����$ M(a) �� unipotent �	�����
��� PSL(2, R) �
���		��
/

M(a) :=
{ (

1 a
0 1

) ∈ PSL(2, R) | a ∈ a}.

2������������������	��	�
������ M(a) �� PSL(2, R) 4= Q(a)1 9	���	=
M(0) = Q(0) = 0 ������ R �
���	���	�������	��������������� Q(R) =
PSL(2, R) ,
���C<D" 5.9.2����C88D" 2.4.1 ��������" 4=�C'<D�������� 6.1"
Q(O−d) = PSL(2,O−d) ���������	=��� d ∈ {1, 2, 3, 7, 11}1

:1 ����
��$	����=�$�� Γ(a) := Γ(2, R, a), ���� R �
��	������������������>�1

���
������		��������		�
��������
��4�������������	��	�
���" ����������
��	����1

/	���
����� %.'.&. B�� H" K" ��� Hα ,α ∈ A ����
��������>�
�� A.�4��
�4����$

��������4�����=�����$ G ���� H ⊆ K1

'1 2������ HG = [G, H]H" ����� [G, H] =< [g, h] | g ∈ G and h ∈ H >
�
��������	�
�4����$��� G1

%1 HNG(K) ≤ K1 #
�����
�	�" �� K �G ���� HG ≤ K1

81 HK ≤ HG ≤ KG1

:1 (
∨

Hα)G =
∨

HG
α 1

-1 (
⋂

Hα)G ⊆ ⋂
HG

α 1

0����1

'1 0������ X := {[g, h] | g ∈ G and h ∈ H} ��� Y := {ghg−1 | g ∈
G and h ∈ H}" ���
������� [G, H]H = X

∨
H ��� Y ⊆ XH ⊆ X

∨
H"


� HG =< Y >⊆ [G, H]H1 G���������������� H ⊆ Y ��� X ⊆ YY 
�
[G, H]H ⊆< Y >= HG1

%8



%1 PSL(2, C) #�� �3 �� 9(�3�  �6)(G�0 

%1 ���������������������7������
1

81 ��
=�����7������1

:1 9	���	= ∨ HG
α ⊆ (

∨
Hα)G ,4= (3).1 3��$��������������
�����	�
���" 7�
��
��

T := (
∨

HG
α ) =

∨
([G, Hα]Hα) ,4= (1).���������������
���� ∨

Hα ⊆ T"
���F�
����������
�������� [G,

∨
Hα] ⊆ T1 2�������������		������������	

�����	�/

��������= g, x, y ∈ G" �������

[g, xy] = y−1[ygx, y]y2 · x[g, x−1]−1y−1x−1.

�������
���������������� [g, h1 · · · hn] �� [G,
∨

Hα]" ����� hi ∈ Hαi ���

��������> αi1 2��$�������4=������������� n/ ��� n = 1 �������
�����������
4��$�����1 #

�����������������= β1 · · · βn−1 ∈ A" [g, x1 · · · xn−1] ∈ T
��������= xj ∈ Hβ j 1 B�� x := h1 · · · hn−1 ���������

[g, h1 · · · hn] = [g, xhn] = h−1
n [hngx, hn]h2

n · x[g, x−1]−1h−1
n x−1.

��� h−1
n [hngx, hn]h2

n ∈ [G, Hαn ]Hαn ⊆ T" ���

x[g, x−1]−1h−1
n x−1 = x[g, x−1]−1x−1 · xh−1

n x−1,

�������
�����	�������� T �
 x[g, x−1]−1x−1 ∈ T 4=����������������

��$

�������� xh−1

n x−1 ∈ HG
αn ⊆ T1

-1 ��
=�����7������1

�

���������		����������$��$�
�����
" ����������	�
�����
����4�
���$��$�����
���
Q, M, ��� Γ" ��������		�4���
�����������������
�����1

-���	�! %.'.*. ,C<D" ����		��= 5.9.2.��� R �
���	���	�����" �������������= I � R"
Q(I) = Γ(I)1

/	���
����� %.'.6. B�� I ��� J 4������$��$������
���������	
�����������������
���� R ����������
�������� I ⊆ J ��� m, n ∈ Z1 2������

'1 M(I) ⊆ Q(I) ⊆ Γ(I)1

%1 M(I) ⊆ M(J)" Q(I) ⊆ Q(J)" ��� Γ(I) ⊆ Γ(J)1

%:
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81 �� R = O−d ��� ω =
√−d ,�1�1 �� d � 3 ��� 4." ����

M(< m + nω >) =< amcn, a−ndcm >

1

:1 �� R = O−d ��� ω = 1+
√−d
2 ,�1�1 �� d = 3 ��� 4." ����

M(< m + nω >) =< amcn, a−n(d+1)/4cm >

1

/	���
����� %.'.7. B�� I, J, ��� Jα (α ∈ A) 4������	
���������������������� R
���������1 3���/

'1 M(
⋂{Jα | α ∈ A}) = ⋂{M(Jα) | α ∈ A}1

%1 Q(
⋂{Jα | α ∈ A}) ⊆ ⋂{Q(Jα) | α ∈ A}1

81 Γ(
⋂{Jα | α ∈ A}) ⊆ ⋂{Γ(Jα) | α ∈ A}1

:1 M(ΣIα) =
∨

M(Iα) ���
∨

Γ(Iα) ⊆ Γ(ΣIα)1

-1 Q(ΣIα) =
∨

Q(Iα)

0����1 0���
 (1) �� (4) ������
=���������=1 ��������	�
�����" �
��%181- $��� (4)1 �

���������������=������7��������>����������
�������	���	" ������������C8%D1
9��
����������4�����=�
�4����$ H �� PSL(2, R) ���7���������>1 3���
�� X =
{I � R | Q(I) ⊆ H}" $�����		=���������4=����	�
���" ��
�������>���� ΣX :=
Σ{I | I ∈ X} 4=�%181;1

3�0������ %.'.+. B�� R 4���������������������������������� H 4�������4�����=

�4����$��� PSL(2, R) ���7���������>1 3�������
�=����� H �
���
�4����$���  ��� 
aH �� aH = Σ{I � R | Q(I) ⊆ H} ,�@����	���	=��� aH �
�����>���	��	��������
{I � R | I � 0, Q(I) ⊆ H}.1 9	���	= aΓ(I) = I ��������=�����	 I �� R1

/	���
����� %.'.#8. B�� H, K, ��� Hα (α ∈ A) 4��
�4����$
��� PSL(2, R) ��
7���������>1

'1 �� H ≤ K" ���� aH ⊆ aK1
%1 ������=�����	= Hα ���
�4����$
��� Γ−d" a∩Hα = ∩aHα 1

81 aHg = ag H = aH ��������= g ∈ Γ−d1 ���$������	��" aHG = aH1

%-



%1 PSL(2, C) #�� �3 �� 9(�3�  �6)(G�0 

:1 ������=�
�4����$ N ≤ H ������� aN∩Γ(aH) = aN1

0����1

'1 6=�$��� (5) ���%181; ����������7����������	���	�������� Q(aH + aK) =
Q(aH)Q(aK) ≤ K" 
� aH + aK = aK" ������
 aH ⊆ aK1

%1 6=�$��� (1) a∩Hα ⊆ ∩aHα 1 G�����������������4=�%181; $��� (2)" Q(∩aHα) ⊆
∩Q(aHα) ⊆ ∩Hα" ������������
�	����		��
������������7����������	���	1

81 ������������������=�����	 I" Q(I) �
��������	�
�4����$������
��$��� (2)1

:1 ������������
�	�����$���
 (1) ��� (2)1

�

��	�  
	) %.'.##. 3��������
������������=�����	=���������������
�4����$
 Hα" ��
	���	 aα" �
���������������������	=���

⋂
aα �
����
����1 ������
���
�" a⋂ Hα =

⋂
aα1

0����1 ��⋂ aα �
����
����" ������	���	=⋂ Hα �
�����������1 9�����
�	=" 
�$$�
�
���� ⋂ Hα �
�����������1  � a⋂ Hα � 0 ����4=�%181'& $��� (2)" a⋂ Hα ⊆ ⋂

aα1
3�������� ⋂

aα �
����
����1 3���	�
���@��	��=���		��
������%181'& $��� (2)1 �

3����������>��$	�
����7���������>�
�4����$
��� PSL(2, k[x])" k ��7�����7�	�"
���	���	�����" 
���C:;D1 ��� Γ−d" �������" ����
����������
���L�����" �
����
�����
������>��$��$�
������������
�����		����
/

/	���
����� %.'.#%. B�� H 4����
�4����$��� G = PSL(2, R)" ����� R �
���=
��������������������������1 �� H ��
�7���������>��� G ��� char(R) � [G : HG]"
���� aH �
����
����1

0����1 2���������������������	�������� H �� G" HG" ��
�7���������>��� G" 
�=
m1  ����������= g ∈ G" gm ∈ HG1 3��
���$	��
����� M(mR) ⊆ HG1  ���� HG
�
������	��� G" ��������4=�%181- $��� (2)" Q(mR) ⊆ HG1  ���� char(R) � m"
mR � 01 ����������	���	��� H �
���������" ���1 �

��	�  
	) %.'.#'. B�� H 4����7���������>�
�4����$��� PSL(2, R)" ����� R �
��
���������������������������
�������� char(R) = 01 3��� aH �
����
����1

��	�  
	) %.'.#(. B�� H 4����7���������>�
�4����$��� Γ−d" ������=�
@����
����
d1 3��� aH �
����
����1

%<
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#
�����$$	��������������������$�����	���	" ���
�����������		�������������"
�����" �����$�������������	���������$�����$������
" ����
�����L������������

����������������������������
�4����$��� Γ−d ���7���������>��
������������������"

���
�������%151 ������$����" 
��������>��$	��C8%D1

-���	�! %.'.#&. B�� H 4����
�4����$��� Γ−d ���	���	 aH1 3��� H �
�������������

�4����$����������	=��� Γ(aH) ⊆ H1

#
���������
���" ����=������������
�4����$��
����7���������>1 ����
������4

����
�����		��������������������������
���
�����1 3�����
����������������'?��
������=" ����@��
�������
����
������������������>��$	�
����,�����	.�
�4����$
���
7���������>������������	�������$ PSL(2, Z) �����������,��		.������������
�4

����$
1 �����������+	����,��1 C:'D�$��� 63.���
����������@��
������K�������	=
�����>��4�����
����
�4����$
�,
����	
��C:5D1.  ������������
���
�������������
PSL(2, Z)1 ���'?<:" 6�

" B�����" ���� �����,C5D.���������$������	=������������
1965 ,C-&D.���
������������ PSL(2, Z) �
��>��$�����	1 3��=�$������������		�����/

-���	�! %.'.#*. ,6�


B�����
 �����,'?<:." ���������,'?<-..1
�� n > 2" ���� PSL(n, Z) 
���
7�
���� ����	������
���	�����	���	�)�1��/2 "
������
" ����=�7����
����>�
�4����$��� PSL(n, Z) �
��������������
�4����$1

B����" ���������������������$���������� PSL(n, R) 
���
7�
�����9 0 �����
R �
��������������������
��������= real ���4���7�	����� n > 21 ����		=" ���'?<5"
6�

" ��	���" ���� �����$������������		�����/ ,C;D.1

-���	�! %.'.#6. ,6�


��	���
 �����,'?<5..1 ��������=�
@����
�����������	����

4�� d ��������= n > 2" ��������$ PSL(n,O−d) 
���
7�
�����9 01

G����������������"  ������� 1970 $������������		�����

-���	�! %.'.#7. 3�������$ PSL(2,O−d)" d 
@����
����" �������
����
����������

�4����$
����7���������>1

����������4=�%181%'" �����		��
��������������$ PSL(2,O−d) �������
���7����	=
���=����
�����������
�4����$
����7���������>1 ����		=" ���������
�����������	

	��������7������/

3�0������ %.'.#+. ��7��

nsc(d) := min{[SL(2,O−d) : G] | G ≤ f SL(2,O−d) �
����
����������}

= min{[Γ−d : G] | G ≤ f Γ−d �
����
���������}.

%5



%1 PSL(2, C) #�� �3 �� 9(�3�  �6)(G�0 

3����������� nsc(1) = 5" nsc(2) = 4" nsc(3) = 22" nsc(7) = 3" ���
nsc(d) = 2 �����		������ dI
�,C8%D.1

2�����������
����������
�������
�	�
��4�������
�����������
�4����$
�����
C'%D1

/	���
����� %.'.%8. B�� K 4���������	�
�4����$��� SL(2,O−d) ,�		 d.�
��������
SL(2,O−d)/K �
��
����$������������������
=������������$ Sn �����������	���

�����������$ An ����
��� n > 61 3��� K �
������
�����������
�4����$1

/	���
����� %.'.%#. �� PSL(2,O−d) ,�		 d.��������
������
�����������
�4����$"
���������������
���7����	=����=�
����
�4����$
1

0����1 B�� G 4�������
�����������
�4����$1 ��������=����
���������	 J ��O−d"
G ∩ Γ(J) ��
�7���������>��� PSL(2,O−d) �����
����
����������1 ��������=
p ∈ N $����" �������

[PSL(2,O−d) : G ∩ Γ(< p >)] =

[PSL(2,O−d) : Γ(< p >)][Γ(< p >) : G ∩ Γ(< p >)],


�����������7����	=����=�$��������4��
 p" G ∩ Γ(< p >)I
������@��	���������

����
�4����$ H" �����4=�%1818 $��� 3" ���
��$��������4��
�������������������
[PSL(2,O−d) : H]" �������
���$�

�4	�1 �

%1: 9�����������	�
���
B�� S 4����
�4����$��� SL(2,O−d)1 3��������
�����������		������������
�4����$

�� SL(2,O−d) ����������� �
���������

���	=��������������
�4����$" ��1 C:;D1
2�������
������
��������
�����������" ,�1�1 ���� S �
����7���������>" 
���4�	��.
�������������4= Ŝ ������		���������������������		����������������	�
������ S1 6=
��7������ Ŝ = S ���������	=��� S �
��������������
�4����$1 2��������>�
�
" ����
����

��		�
�������������
�4����$����������� S ����
����������> [Ŝ : S] �
������
���
��������>������������� S �������
������4������������������
�4����$1 #	������
����������������	�
�����
�������7������������=�
�4����$��� SL(2,O−d)" �����
����$	���=����
�4����$
����������������	�
�����
���7���" �
����
������������>�
�������1 ������$����" 
���C:?D1

-���	�! %.(.#. B�� G 4����7����	=���������������$���� d 4����=�
@����
����
������	����4����������1 3������>�
�
 S ≤ SL(2,O−d) ��������� Ŝ �
���7���"
S � Ŝ" ��� Ŝ/S � G1

B����
������������7��������������������������	�
����$����
�	=�����
���=�4�
��
$��$�����
��������������������	�
���1

%;



%1:1 9G�)(���9� 9BG �(�

���
���� %.(.%.

'1 Hg := g−1Hg ��� gH := gHg−1" ��������	����� g ������
�4����$ H ��
�����4�����=�����$ G1

%1 HG :=
⋂{Hg | g ∈ G} �
����������	�������� H �� G1

3�0������ %.(.'. B�� R 4�������������������������������� H 4����
�4����$���
PSL(2, R)1 2����7������ ����	��������  �� � �
�	� �� H �� PSL(2, R) �
����

��		�
�������������
�4����$��� PSL(2, R) ���������� H" ���������>�
�
" ���
����������4= Ĥ1 �������������
"

Ĥ =
⋂{K ≤ PSL(2, R) | K is congruence and H ⊆ K}

��������
������
��������
�����������1 �����������������	��=
��>�
�
�������������

�4����$����������� H" �1�1 HΓ(I) ��������=����
���������	 I �� R1

/	���
����� %.(.(. B�� H 4����
�4����$��� PSL(2, R)" ���� R ������������������
���������1 �� aH �
����
����" ���� Ĥ �
���7���1 ���$������	��" �� R = O−d ��� H
�
����7���������>��� Γ−d" ���� Ĥ �
���7���1

0����1 �������4����
�	=�
�������� Γ(aH)H �
�����
��		�
�������������
�4����$
���������� H1  � Ĥ = Γ(aH)H1 �

/	���
����� %.(.&. B�� H, K 4��
�4����$
��� PSL(2, R)" ���� R �������������
��������������" 
�������� Ĥ ��� K̂ ������7���1

'1 ��������=������������
�4����$ N �� Ĥ" Ĥ = NH1 ���$������	��" Ĥ =
Γ(aH)H" �� aH �
����
����1

%1 �� H ⊆ K ���� Ĥ ⊆ K̂1

81 �� Ĥ ∩ K �
���7�������� Ĥ ∩ K ⊆ Ĥ ∩ K̂1

:1 �� aH �
����
��������� ̂HG ∩ Γ(aH) = Γ(aH)1

-1 �� aH �
����
����" �������������= N ≤ H ���� aN � 0 ��� ̂N ∩ Γ(aH) = N̂
������� N ⊆ Γ(aH)1

0����1

'1 NH �
��������������
�4����$����������� H �������	������� Ĥ1

%1 ���������������%181'& $��� (1) ����%1815 $��� (2)1

%?
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81 ���������������%181; $��� (3) ����%1815 $��� (2)1

:1 ���������������%181'& $���
 (3) ��� (4)1

-1 �� ̂N ∩ Γ(aH)) = N̂" �����4=�$��� (1) ����%181'& $��� (4)" Γ(aN)N =
Γ(aN)(N ∩ Γ(aH))1 G���������������� Γ(aN) ∩ N = Γ(aN) ∩ (N ∩
Γ(aH))" �������������
�	�1

�

%1- 3�������$
 PSL(2, R)
������
�
������" 7�
�" ����������
�����������������4����$��������

������������$

PSL(2, R)" ������������������,	���	.����� R ���������1 ��>�" ����$$	=����
������

�����������������	������6�����������$
�������
������
����$��$�����
��������	���	
��������������
�4����$
1

��������=�7�	� F ��������= 2 ≤ n ∈ N" ��������$
 SL(n, F) ,���������
PSL(n, F).�����$������" �>��$�����������
�
 SL(2, 2) ��� SL(2, 3) ,C%'D.1 (���		
�����������$ G �
�
�������4� ��	���� �� G′ = G" ������
" G ��
�������
������	��4�	���
@�������1 9	���	=�����=�@�������������$�����������$��
�$������1 2���������������
���
�������������$ SL(2, R) �
��	
��$������" ��������=�������������	���	����� R1 3�
$��������
" ����
����� � �!���
	)�!
�	���
 Xij(r)" i � j, r ∈ R" ���
��������

��������
�����
���� 2 × 2 �������=������>��>��$��������� i, j
�������=" �������

r1  � Xij(r) ∈ SL(2, R) ��������= r ∈ R1 B�� E(2, R) �����������
�4����$���
SL(2, R) ����������4=��		��	�������=��������
1 2�������������		������	����
/

5�!!
 %.&.#. B���( 4������������������������� 1 
�������� R �������
����������

�4	���	����� a ���� a−1 � a1 3��� E(2, R) ≤ [SL(2, R), SL(2, R)]1

0����1 B�� r ∈ R ����$�� r′ := (a2 − 1)−1r1 3���

[

(
a 0
0 a−1

)
,
(

1 r′
0 1

)
] =

(
1 r
0 1

)
.

�

5�!!
 %.&.%. B���( 4����������������	���	���������� 1 ������>���	�����	m1 3���
E(2, R) = SL(2, R)1

0����1 9��
���� A =
(

a b
c d

) ∈ SL(2, R)1 ����		��	�����
������������ A ������ m"
�������������= X ∈ SL(2, R)" �		�������
��������
���������� AX ������ m" 
����
�������4�������������=������>1  ���	��	=" �����		�������
��������	������ A ������ m1
�������
�����������		��������
�
/

8&



%1-1 3�� )(G�0 PSL(2, R)

'1 c � m 
� c �
��������4	�1 0������ c′ := (1 − a)c−1 ���
�������

X21(−c) · X12(c′) · A · X12(−b − c′d) = I2×2,

����� A ∈ E(2, R)1

%1 b � m 
� b �
��������4	�1 0������ b′ := (1 − a)b−1 ���
�������

X12(−b − c′d) · A · X12(b′) · X21(−b) = I2×2,

����� A ∈ E(2, R)1

81 b, c ∈ m 
��������
���
�������
������ a, d � m1 ���
��������������

X12(a−1) ·
(

a 0
0 a−1

)
=

(
a a−2

0 a−1

)
,

������4=���
� 2"
(

a 0
0 a−1

)
∈ E(2, R)1 ���

X21(−ac) ·
(

a 0
0 a−1

)
· A · X21(−a−1b) = I2×2,


����������� A ∈ E(2, R)1

�

����������
������������" ����
���
=����$�����������		�����

-���	�! %.&.'. B���( 4����������������	���	���������� 1 ������>���	�����	 m

�������� |R/m| > 31 3��� SL(2, R) �
�$������1

0����1 #
�����7�	� R/m ��
���������� 3 �	�����
" R ��
��������������	�����
a � 0 ���� a−1 � a �������4	������������������4=������4��������	����
1 �

2����		��
��������		������
$����	���
��������
��������/

��	�  
	) %.&.(. B�� R 4������������	����������� I 4������>���	�����	������

�������� R/I ��
���������� 3 �	�����
1 3������������= j ∈ N" ��������$

SL(2, R/I j) ,��������� PSL(2, R/I j).�����$������1

0����1 3�����
� j = 1 �
��	����4����
� R/I �
���7�	���������������� 3 �	�����
1
������������������= j > 1" R/I j �
���	���	�������������>���	�����	 I/I j1 G�����
����������" 3 < card(R/I) ≤ card(R/I2) ≤ card(R/I3) ≤ · · · 
��4=����
�4�����������������������1 �

8'
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��>�" ���$��������
���	�$��$���=��������$�����$�	������������
�4����$
1 ��
I, J �R" ����� R �
������������������������������
�������� J2 ⊆ I" �������������$
Γ(2, R/I, I + J/I) �
��4�	����������
�������	=�
��$	��
��������/

5�!!
 %.&.&. B�� I, J 4������	
���������������������� R ����������
�������� J2 ⊆ I1
3��� Γ(2, R/I, (I + J)/I) � ((I + J)/I,+)31 ���$������	��" ����
�����4�	���
�����	�
�4����$��� PSL(2, R/I)1

0����1 9��
���� u =
(

a+I b+I
c+I d+I

)
��� v =

(
a′+I b′+I
c′+I d′+I

)
�� Γ(2, R/I, I + J/I)1

2������
uv =

(
aa′ + bc′ + I ab′ + bd′ + I
ca′ + dc′ + I cb′ + dd′ + I

)
.

�������������" 
���� b, c, b′, c′ ∈ I + J" ��� (I + J)2 ⊆ I + J2 ⊆ I" ��
���� bc′, cb′ ∈ I1 G����������������" a − 1, a′ − 1, d − 1, d′ − 1 ∈ I + J" 
�
���� ab′ − b′, bd′ − b, ca′ − c, dc′ − c′, aa′ − a − a′ + 1, dd′ − d − d′ + 1 ∈
(I + J)2 ⊆ I1 3��


uv =

(
a + a′ − 1 + I b′ + b + I

c + c′ + I d + d′ − 1 + I

)
= vu.

G����������������" 
���� ad − bc − 1 ∈ I" ���
������� d + I = 2 − a + I1
������������$ f ��7������� f (u) := (a − 1 + I, b + I, c + I) �
��	���	=���
�
����$��
������4�	��������$
����� Γ(2, R/I, (I + J)/I) �� ((I + J)/I,+)31

�

B�� R 4������������	����������� I � R1 ��������= j ∈ N" ��7��/
{

εj+1 : PSL(2, R/I j+1) → PSL(2, R/I j)

εj+1

(
a+I j+1 b+I j+1

c+I j+1 d+I j+1

)
:=

(
a+I j b+I j

c+I j d+I j

)
.

����
��	�������� εj+1 = resIj/I j+1 " �����

resIj/I j+1 : PSL(2, R/I j+1) → PSL(2, (R/I j+1)/(I j/I j+1))

�
�������$��4�������������
������������ I j/I j+11  ��4=�%1-1-"

ke(εj+1) = Γ(2, R/I j+1, I j/I j+1) � (I j/I j+1,+)3.

B�� I 4������>���	�����	��� R1 3��� R/I j+1 �
���	���	�����������������>���	�����	
I j/I j+11 ������
���
������
����=���
=����$��������� εj+1 �
�
��F������/ ���
�������
u =

(
a+I j b+I j

c+I j d+I j

)
∈ PSL(2, R/I j)" ���
������� ad − bc − 1 ∈ I j" 
� ad −

8%
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bc + I j+1 �
���������	�������� R/I j+11 �� e + I j+1 �
���
������
�" ���� u′ =(
ea+I j+1 eb+I j+1

c+I j+1 d+I j+1

)
∈ PSL(2, R/I j+1) ���� ε(u′) = u1

#
������
�@���
�����%181<" ������� Γ(2, R/I j+1, I j/I j+1) = Q(I j/I j+1)"

���������������		������
������>����
�@�����/

0 → (I j/I j+1,+)3 → PSL(2, R/I j+1) → PSL(2, R/I j) → 0,

#
�����
�	�" (I j/I j+1,+)3 �
�� PSL(2, R/I j)
����	�1  ����������$���������
��		�����

/	���
����� %.&.*. B�� R 4������������	����������� I � R1 ��������= j ∈ N"
Γ(2, R/I j+1, I j/I j+1) = Q(I j/I j+1) � (I j/I j+1,+)3 ����������		������
�

@�������
��>���/

0 → (I j/I j+1,+)3 → PSL(2, R/I j+1) → PSL(2, R/I j) → 0,

#
�����
�	�" (I j/I j+1,+)3 �
�� PSL(2, R/I j)
����	�1

3��
���
�	��	���
����������	=����������		����������
��4���������
�����
�	��4�	

��=��� PSL(2, Z/2jZ) ��� PSL(2, Z/3jZ)/

��	�  
	) %.&.6. ��������= j ∈ N" ������� |PSL(2, Z/2jZ)| = 3 · 23j−2 ���
|PSL(2, Z/3jZ)| = 4 · 33j−21

0����1 3���$������
�4=������������� j1 ��� j = 1" �������
������������$�����
����
PSL(2, Z/2Z) � S3 �
��������� 6 ��� PSL(2, Z/3Z) � A4 �
��������� 12
,
���C%'D1. #

�������� |PSL(2, Z/2jZ)| = 3 · 23j−2 ��� |PSL(2, Z/3jZ)| =
4 · 33j−21 6=�%1-1<" ��������������		������
������>����
�@�����/

0 → (I j/I j+1,+)3 → PSL(2, Z/I j+1) → PSL(2, Z/I j) → 0,

����� I �
������� 2Z �� 3Z ��
$������	=1 �����

|PSL(2, Z/I j+1)| = |I j/I j+1|3|PSL(2, Z/I j)|.
��� I = 2Z" |I j/I j+1| = 2 ������� I = 3Z" |I j/I j+1| = 3" ���������������1 �

��	�  
	) %.&.7. B�� R 4������������	����������� I �R 4��
�������� PSL(2, R/I)
�
�
�	��4	�1 3������������= j ∈ N" ��������$ PSL(2, R/I j) �
�
�	��4	�1

0����1 3��
���		��
������%1-1< 4=����������1 �

��	�  
	) %.&.+. ��������= j ∈ N" ��������$
 PSL(2, Z/2jZ) ��� PSL(2, Z/3jZ)
����
�	��4	�1

88
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0����1 N�
����������� PSL(2, Z/2Z) � S3 ��� PSL(2, Z/3Z) � A4 ,C%'D.����
4����
�	��4	�1 �

B�� O := O−d" d ∈ {1, 2, 3, 7, 11}" x ∈ O" ��� G := PSL(2,O)1 2�

��		�$������������ x 
���
7�
�������������������������$������$$������������
�$����
������������$�
��������
����� > 3" �������������$ G/Γ(xO) �
�$������1 2�
�
�����
��������������$�����
����$��$�����
���������������
�4����$
1 B����
�
����
4=�$�������
�����	�������=�����
��4����$�����������$
1 B�� G 4��������$����
N �G 4������4�	���������	�
�4����$������1 (���		�������������F�����������������
G �� N ������
������������� G/N �� N" ������� N ������ G/N
����	�1 3��
��		������
��$	��	�������		�4���
���	�	����/

5�!!
 %.&.#8. B�� N 4���������	�
�4����$���������
�4�	��������$ G ���� G/N
$������1 3��� G = G′N1 ��������" �� N �
��4�	����������
��$	� G/N
����	�"
���� G = G′ ⊕ N1

0����1  ���� G/N �
�$������" G/N = (G/N)′ = G′N/N ��������� G =
G′N1 B�� N 4���4�	����������
��$	� G/N
����	�1 ��� G′ ∩ N �
�� G/N


�4����	���� N1 �� G′ ∩ N = N" ���� G = G′" �������������1  � G′ ∩ N =
01 �

B�� x ∈ O1 �����$�
� x �
 x = pe1
1 · · · per

r ���� ei > 0 ��� pi I
���
�����
$������	�����
��� O1 B��

π : G � G/Γ(I), πj :
r⊕
1

PSL(2,O/Opei
i ) � PSL(2,O/Op

ej
j )

4��������������	�$��F������
1 2�������������		�������������/

/	���
����� %.&.##. 2���������4������������" �� N(pi) > 3 �����		 i" ���� G/Γ(xO)
�
�$������1

0����1 0�� I := xO1  ���� pe1
1 , · · · , per

r ������
$����" ������� O = Ope1
1 +

· · ·+Oper
r ����������4=����������
������������������

O/I � O/Ope1
1 ⊕ · · · ⊕ O/Oper

r

�����" �������" ����
���
���������
����$��
�

ψ : G/Γ(I) → PSL(2,O/I) → PSL(2,O/Ope1
1 )⊕ · · · ⊕ PSL(2,O/Oper

r ).

#
 N(pi) > 3 �����		 i" 4=�$��$�
������'1'1'5 |O/Opi| > 3 ������4=�����		��=
%1-1: �����������1 �

8:



%1<1 9G�)(���9�  �6)(G�0 0(G0�(3Q �� SL(2,O[ 1
P ])

���������
�	=�
�������/
-���	�! %.&.#%. B�� T 4����$��$���
�4����$��� PSL(2,O−d)" d ∈ {1, 2, 3, 7, 11}"
���	���	 xO−d ,0 � x ∈ O−d.����� PSL(2,O−d)

′ ⊆ T1 �� T �
�����������" ����
�������>�
�
 p ∈ O−d $�����
�������� p | x ��� N(p) ∈ {2, 3}1
0����1 �����$�
� x = pe1

1 · · · per
r �
��4���1 �� N(pi) > 3 �����		 i" ����

G/Γ(xO) �
�$�������4=������4����$��$�
�����" 
��4=�%1-1'&" PSL(2,O) = T"
�������������1 �������������>�
�
 i ���� N(pi) ∈ {2, 3}1 �

9"
!� �. 9��
���������$��
����������� Γ−7 = PSL(2,O−7) ����������������
%1%1'1 B�� T 4����$��$���
�4����$��� Γ−7 ���	���	 xO−7 ,0 � x ∈ O−7.�����
ω � x ��� 1 − ω � x1 �� < ba3 >Γ−7⊆ T" ���� T �
����
����������1
0����1 3�����	=��	�����
���O−7 ������� 2 ��� ω, 1− ω �����������
�����	�����
������� 3 ,
���������4	��'1' ��������������
������ 1 ������$��� 1 .1 �������4����
�	=

�������� PSL(2,O−d)

′ =< ba3 >Γ−7 ,ba3 = [a−1, b][b, a−2].1 ���������4���
��������7��
��
���������1 �

%1< 9����������
�4����$�$��$���=��� SL(2,O[ 1
p ])

B�� p ∈ O := O−d 4��$����" d ��=�
@����
�����������	����4��1 ������
�
������
���
�����������������$ SL(2,O[ 1

p ]) ,��������� PSL(2,O[ 1
p ]).���
�����������


�����
�4����$�$��$���=1 3�������$������������������$
Γ(I) ∗Γ(I)∩Γ(I)g Γ(I)g

�
��
����$���������7���������>�
�4����$��� PSL(2,O[ 1
p ]) ������������
���
7�


����9 0"������ g :=
(

p 0
0 1

)
∈ PGL(2, Q(

√−d))" ��������= p ∈ O $��������
����=����
���������	 I �� Q(

√−d) 
�������� p � I1 3��
���
�	����		�4���
�����
����$��������81<15 �����" �������" ��		�4���
����������$���������������������������

�������81<" ��������81<1:1 2����		�$���������9 0 ��� SL(2,O[ 1

p ]) ���%1<181 3��

�
�����������������	�����������6�����I
������C?D" 4�
����������6�


 ����������=���
����
1

2��
�����4=�
������������$������������������ ����" �������
�������=�����$���

��������9 0 �� SL(2,O[ 1

p ])1 ��������$��������������	
���������������" 
���C<&D"
3������ 21 ���
������		�����/
3�0������ %.*.#. B�� Sall 4������
�������		�$	���
���������4���7�	� F ��� S ⊆ Sall
4����7�����
�4
����� Sall ���������� S∞" ����
�������		�#�����������$	���
��� F1
3���������� ��������	
 �� F �
�4=���7������/

OS := {x ∈ F | v(x) ≥ 0, ��������=�$	��� v ∈ Sall − S}

8-



%1 PSL(2, C) #�� �3 �� 9(�3�  �6)(G�0 

OS �
����������������������
����>���	�����	
������� 1
1 �����
$�������
����������	�����
��� Sall − S1 3����������������������������� �����
�=
/

-���	�! %.*.%. , ����.�B�� S 4����7�����
�4
����������$	���
��������7�	� Q(
√−d)

������������		�#�����������$	���
" ��� OS ����
�4������� S
�������
1 3�������
����$ SL(2,OS) ,��������� PSL(2,OS) 4=�%181%.�
���
7�
�����9 01

2���
�����
�����$�����������9 0 �� PSL(2,O[ 1
p ])/

/	���
����� %.*.'. B�� p ∈ O 4��$����1 3������������$ SL(2,O[ 1
p ]) ,���������

PSL(2,O[ 1
p ]).���
����������������
�4����$�$��$���=1

0����1 B�� Sall 4������
�������		�$	���
��� F := Q(
√−d) ��� Sp 4������
�����

,�������" 
���'1%1'&.�#�����������$	���
��� F ���������������������
#����������
$	���������
$��������������$���������	 P := pO1 2��
�������� OSp = O[ 1

p ]"
�����������������%1<1% 7��
��
���������1  ��
�$$�
������ x ∈ OSp 1 �����$�
�
Ox �
 Pe1

1 · · · Pen
n ���� Pi I
�4�������
������$���������	
��� O1  �������		 i" �������

ei < 0 ���������	=��� Pi = P1 G����������������" ����=����������$������� P �

������������ O[ 1

p ]" 4����
� P−1 = { y ∈ F | ypO ⊆ O} = O[ 1
p ]" ����������

����1 �

������������$����������������
�	��������
�
������" ,�1�1 $����������� Γ(I) ∗Γ(I)∩Γ(I)g

Γ(I)g � Γ(I · O[ 1
p ])" 7�
����������������		������	����
1

5�!!
 %.*.(. B�� R 4������������������������������" p ∈ R ���� Rp ��>���	"
��� I, J � R ��$������� Rp1 3��� I J + Rpk = R" ��������= k ∈ N1

0����1 9	���	= I J + Rp = R1  ���������>�
� r ∈ R, x ∈ I, and y ∈ J 
��������
1 = rp + xy" ��������� pk−1 = xypk−1 + rpk ∈ I J + Rpk" 
� I J + Rpk−1 =
I J + Rpk �����		 k" �������������
�	����		��
�4=������������� k1 �

5�!!
 %.*.&. B�� I �O ��� p ∈ O $�����
�������� p � I1  �� Ĩ := I · O[ 1
p ]1

3��� Ĩ �
����
���� K := Q(
√−d) �������
$�������������$�	��=���������4=����

�4
�	������	�� | |Op �� K1

0����1 B�� P := Op1 #
 O �
�������������������,'1'1'." ����=����
�����$����
����	��������
���>���	" 
� I + P = O1 B�� x ∈ K ��� ε > 01 (���		�����
��������'1'18 ���� Q(

√−d) �
�����7�	�������������
��� O1 2���� x = a1
b1

����
a1, b1 ∈ O" b1 � 01  �$$�
������ vP(a1) = α, vP(b1) = β" �����
��$��� 1
���	�����'1%1< �������� a1 = pαa, b1 = pβb ���� a, b ∈ O ��� p � a, b" 
�
x = pα−β a

b 1 0�� s := α − β1 9���
� k ∈ N 
�������� p−k < ε1 B�� s < 01 6=
����$������
�	����" bI + Pk−s = O1  ���������>�
� g ∈ I, y ∈ O 
��������

8<



%1<1 9G�)(���9�  �6)(G�0 0(G0�(3Q �� SL(2,O[ 1
P ])

a = bg+ ypk−s" ����� pk−s | a− bg ����4=�$��� 2 ���'1%1<" |a− bg|P ≤ p−k+s1
3��
 |x − psg|P = |ps a

b − psg|P = |ps|P| a
b − g|P1  ���� |b|P = 1" �������

| a
b − g|P = |a − bg|P ≤ p−k+s" 
� |x − psg|P ≤ p−s p−k+s = p−k < ε ���

psg ∈ Ĩ1 3�����
� s ≥ 0 �
�����	��������
���	�����=1
�

2����������		�
��������
��4�������������=��������$
���������������
���������
��������������
�����$��������� Γ(I) ∗Γ(I)∩Γ(I)g Γ(I)g � Γ(I · O[ 1

p ]) ���%1<1;1 ���
�����	
" 
���C'8D��$$����>�������$��� 2 ����C<'D1

(���		���������������$ G ���
���������� X ������������ e = (v, v′) ������������

v �� v′ �
���		���� ����
!���
 ���!
�� ����������������������=�������� X �
 G

�@����	������ e ��������=������>��� X �
 G
�@����	������������� v �� v′ 4������
4���1 ������
���
�" ������������
�
����������	=��������� e ������������
 v, v′ �

�
����$���" �
�������" �� X/G ����������� Gg = Gv ∩ Gv′ " ����� Gg" Gv"
��� Gv′ ��������
��4�	����
��� e, v, v′ ��
$������	=1 3�����		����������������� ����

����
������
���������������� G ����
��������$�
�������� G �
�������	�������
�����$������/

-���	�! %.*.*. ,C'8D�3������ A1 ���$��� 2.�B���������$ G ������������� X" ���
	�� e 4����������������������
 v, v′ 
�������� e �
�������������	���������������
������1 3��� G = Gv ∗Ge Gv′ 1

B�� V 4��� K �������
$������������
��� 2" ����� K �
�����	����7�	��,����
��
��������	�� v.��������	����������� R1 (���		�������  
����� �� V �
���=����� R


�4����	���� V ������� 21 �� x ∈ K∗" ������ L �
���	��������� V" �����
����
xR = Rx" Lx �
��	
����	��������� V1 3��
���������$ K∗ ���
��������
������	������

�� V ���������		�������4��������	������ L ���������
����������
 � 


" �������������
4= [L]1 3���	������
�4�	��������������
�����	�

�������		�� �4���
 ���1 3���
��
���	��������	�

�
��
���������4= L(V)1 3����	�����
 X, Y ∈ L(V) ����
�������4�

�;
���� ���	������
 L, L′ �>�
��
�������� X = [L], Y = [L′]" ��� L/L′ � R/xR"
����
��� x ∈ K∗ ���� v(x) = 11 3��
���	����������
 L(V) ������1 ��������" ���
����$ SL(2, K) ,PSL(2, K) ��
$1. ���
��������
������	������
�,����������
��������
$1.
���������		��������=/ B�� L = l1R + l2R 4����	���������� g =

(
a b
c d

) ∈ SL(2, K)1
3���

g · L := (al1 + bl2)R + (cl1 + dl2)R.

2�������������		�������������

-���	�! %.*.6. ,C<'D" ���$����%"������� 2.�B�� G ≤ PSL(2, K) ��� L ⊆ L′ 4�
������F������	������
��� V1 ��������	�
������ G �� PGL(2, K) �������
 PSL(2, K)"
���������������� L(V) ������������
 [L], [L′] �
�������������	���������������
��������� G1 ��������" ������� G[L] = GL" ��� G[L′] = GL′ 1

85
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����		=" �����������=����$����������������������������
�
������1

-���	�! %.*.7. B�� 0 � I �O = O−d ��� p ∈ O 4��$�����
�������� p � I1
��7�� g :=

(
p 0
0 1

)
∈ PGL(2, Q(

√−d))1 3��� Γ(I) ∗Γ(I)∩Γ(I)g Γ(I)g � Γ(I ·
O[ 1

p ])" ��������	������
���
7�
����������������
�4����$�$��$���=1

0����1 B�� Ĩ := I · O[ 1
p ]1 9��
�������� p
�������	������ v : Q(

√−d) → Z ∪
{∞} ����	�� R := {x ∈ Q(

√−d) | v(x) ≥ 0} 4����
���	�����������1
2����������������$������
�	��������� Ĩ �
����
���� K := Q(

√−d) ����
��
$���������� p
���������1 2��
��������������	�
������ Γ( Ĩ) �� PGL(2, K)
�������


(
1 ∗
0 1

)
���

(
1 0∗ 1

)
" ����
� PSL(2, K) ,
���C<'D" ��11.2 ���%1-1%./ B�� ε > 0

��� x ∈ K 4�������1 �
��������
��=��� Ĩ �� K" ����
� b ∈ Ĩ 
�������� |b − x|p <

ε" ����
(

1 b
0 1

) ∈ Γ( Ĩ) �
������� ε
�����4���������
(

1 x
0 1

)
1 3���������������

(
1 0∗ 1

)
�
�
���	��1

�����$$	=�����$������
������������
����� G = Γ( Ĩ)" L′ := R · p2 ⊕ R · p ⊆
L := R · p ⊕ R · p" ���
������� Γ( Ĩ) = GL ∗GL∩GL′ GL′ " ����� GL, GL′ �������

��4�	����
��� L, L′ ��������� G
���������
$������	=1 2��
�������� GL = Γ(I)
��� GL′ = Γ(I)g/
Lemma. ��������= x ∈ Ĩ" �� x � R ���� x − 1 � I1
3��
�������� GL = Γ(I)" ���
���� u =

(
a+1 b

c d+1

)
∈ Γ(I)" ���� a, b, c, d ∈ I1

 � (
a + 1 b

c d + 1

)(
p
0

)
=

(
p(a + 1)

cp

)
,

(
a + 1 b

c d + 1

)(
0
p

)
=

(
bp

p(d + 1)

)
.

6=������4����	����" a + 1, d + 1 ∈ R" 
� Lu ⊆ L ��������= u ∈ Γ(I)" ����
�
 Lu = L ��������= u ∈ Γ(I)1
3��
�������� GL′ = Γ(I)g" ���
���� u ∈ Γ(I)g ��������� u =

(
a+1 b/p
cp d+1

)
����

a, b, c, d ∈ I �����������
��4���1
����		=" ������������ Γ( Ĩ) �
����7���������>��� PSL(2,O[ 1

p ])" ������������

��������
�4����$�$��$���=���		��
������%1<181 3��
������
" �
��'1%1< $��� 1 ��

�������� O[ 1

p ]/ Ĩ � O/I" ��������	�������
�7�����4=�'1'1'1 �

%15  �������$��������	��>��$	�

B�� H3 := C ×R+ 4����� 3
�����
����	��=$��4�	���
$���1 (���		��������������$
PSL(2, C) ���
��� H3 ���������		��������=/

8;
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(
a b
c d

)
· (z, r) :=

1
N
((az + b)(cz + d) + acr2, r),

����� N := |cz + d|2 + |c|2r21 # 
�4����$ G �� PSL(2, C) ���
�$��$��	=���


���������
	=��� H3 ���������	=��������
�����
������
�4����$1 ��" �����������" ����

���
���
����" ���������@��������
$��� H3/G ���
�����
���������������=$��4�	�� 3

�����
����	�(����������������	�1 2����		������
���
�������
������
�4����$ G ��
PSL(2, C) �  ������!� �!����1
��2�	��� �� H3/G �
���������$������ S3 − L"
����� L ⊆ S3 �
��  ���" ������
" ��7������������� m ��
F������	�
���
��$	�������
���
����������
$���� S3 R �� m = 1" L �
�������1 2���������������
����	���������	��=
����������$	����� S3 − L ������		�����
5�!!
 %.6.#. B�� q 4�������
����������������1 3���

Hq(S3 − L, Z) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

Z q = 0
Zm q = 1
Zm−1 q = 2
0 q > 2

������$����" 
���C-;D1
<��
����. ������������	��
��� d" ��������$ PSL(2,O−d) �������
���	���

���$	������
�4����$J
(�
�	�
��������������	��=��� PSL(2,O−d) ,
���C<5D.�	�����������	��
��� d ���

���������
��
�$�

�4	�����������		������	�
�/
{1, 2, 3, 5, 6, 7, 11, 15, 19, 23, 31, 39, 47, 71}.

G��������	�
��%&�=���
" �������
�	�������$	����������$
������4������������
PSL(2,O−d) �����		�������
����
�
1 ,
���C8D" C-:D" C8<D" C--D" C<-D" C<;D" ����C:D.1
�����������" ���=�������������
$�������	���
�,7���������������" 2���������	���"
6�������������
" 1 1 1 . �����4����������	��������
���=��� 3
������	�
1

9�����
�	=" ��	��� L �� S3 �
���		�� arithmetic ����=$� d �� S3 − L �
������

���$������ H3/G" ����� G �
������
���
�����
�4����$��� PSL(2,O−d) ���7����
����>���� d �
�������	���������
�$��$���=1 �������4��
���������" ����=�	������ S3

�
���
�4
	���������������������	��������=$� 1 ,
���C-D.1 3���7�����������������
����
��	=�����������������4����������>�
�
���7����	=����=������������	���
" ���������
�������$�����
" 
���C-:D1

������
�
�������������
�����
����	�������$	������
�4����$
����
��		�����>
�������6�����������$
 Γ−1 ��� Γ−7 �������$����������	���	
�����
������������=
��������������1 2���
����������$������	��4���
=
����)#0'���������������$���
����>�
����������������������	�������
������
�4����$�������1

')#0 �
���
=
�����������$��������	���
�������	��4��" �����$������	�����$��
�
����9��$���

�����	�)���$�3����=1  ������$/SS���1��$

=
���1���S

8?
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-����	��� Γ−1

������
���
��������� ω = i" N(m + ni) = m2 + n2" ��� M(< m + ni >) =<
amcn, a−ncm > ,%1815.1 2������
��������		������$��
������������ Γ−1/ ,%1%1'.

Γ1 =< a, b, c, j | b2 = (ab)3 = [a, c] = (aj)2 = (bj)2 = (cj)2 = (cbj)2 = 1 > .

3�������$ Γ−1 ��
" �$��� Isom(H3)
���F����=" �>���	=�%����
���������
�4����$

�������> 6 ��������
����������4�	����������
�,C8'D�T4.1 3�����	���	��
������������4=
������>���������1

-���	�! %.6.%. B�� e := ba−1cb1

'1 3���
�4����$ Γ−1(12, 1) :=< c, e > �
���������������	���	< −2+ 2i >1
����
��
����$��������������$	�������� S3 ������ 2
���$������	���/

%1 3���
�4����$ Γ−1(12, 5) :=< a, c, bc2ab > �
���������������	���	 <
1 + 2i >1 ����
��
����$��������������$	�������� S3 ������ 2
���$�����
	���/

0����1 �����
�4����$���������C8'D���������
������$
������
����$��������������

$	�������� S3 �������������	���
1  ��������$��������	���	
1

'1 #
 [< a, c, e >:< c : e >] = 2 4=��
����)#0"�������������� M(< m+ ni >
) ⊆< c, e > ���������	=��� M(< m + ni >) ⊆< a, e > ���������	=��� m, n
��������1 �������
���� M(< −2 + 2i >) =< a−2c2, a−2c−2 >1 �
�
)#0 ���
������� Q(< −2 + 2i >) ⊆< c, e >" 4�� Q(< 2 >) �
����

:&
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���	������� < c, e > 1  ���� −2 + 2i = (1 + i)3 �
�����$������������������
�� −2 + 2i" < −2 + 2i > �
�����	���	��� < c, e >1 #������
����)#0 ��
���$��� [Γ−1 : Q(< −2 + 2i >)] = 192 �����
����%1818 ���
�������
[Γ−1 : Γ(−2 + 2i)] = 1921  ��4=�%1815 $��� 1" Q(< −2 + 2i >) =
Γ(−2 + 2i)1

%1 G��������
���
�	=����� Q(< 1 + 2i >) ⊆ Γ−1(12, 5) ,
���	������$��� 1.1
6�� 1 + 2i �
���$������� O−11 #	
������������ [Γ−1 : Q(< 1 + 2i >)] =
[Γ−1 : Γ(1 + 2i)] = 60" ��������������� Q(< 1 + 2i >) = Γ(1 + 2i)1

�

-����	��� Γ−7

������
���
��������� ω = (1 +
√
(− 7))/2" N(m + ni) = m2 + mn + 2n2"

��� M(< m+ ni >) =< amcn, a−2ncm+n > ,%1815.1 ����������
���� M(−m+
mi) ⊆< a−mcm, amcm >" Q(−m + mi) ⊆ Nm := (< a−mcm, amcm >)Γ−7 1
2������
��������		������$��
������������ Γ−7/ ,%1%1'.

Γ−7 =< a, b, c | b2 = (ab)3 = [a, c] = (c−1bcba)2 = 1 >

3�������$ Γ−7 ��
" �$��� Isom(H3)
���F����=" �>���	=�%����
���������
�4����$

�������> 6 �����	
� 2 �������> 12 ��������
����������4�	����������
�,C8'D�T2.1 3����
	���	��
������������4=�������>���������1

-���	�! %.6.'.

'1 3���
�4����$ Γ−7(6, 1) :=< a2, c, bcb > �
���������������	���	 < 2 >1
����
��
����$��������������$	�������� S3 ������ 3
���$������	���/

%1 3���
�4����$ Γ−7(6, 5) :=< c, bab > �
���������������	���	 < 2ω >1 ��
�
��
����$��������������$	�������� S3 ������ 2
���$������	���/

:'
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81 3���
�4����$ Γ−7(12, 4) :=< c, bc2b, bca2b, abc2ba−1 > �
�����������
���	���	 < −2 + ω >1 ����
��
����$��������������$	�������� S3 ������
4
���$������	���/

:1 3���
�4����$ Γ−7(12, 12) :=< c, bcb, a−1bcba−1 > �
��������������
	���	< 2ω >1 ����
��
����$��������������$	�������� S3 ������ 3
���$�����
	���/

0����1 #����������������������
������$
������
����$��������������$	�������� S3

�������������	���
���
�4����$���������C8'D1  ��������$��������	���	
1
'1 B������������������> [< a, c, bcb >:< a2, c, bcb >] = 2 ,�
��)#0."���

���������� M(< m + nω >) ⊆< a2, c, bcb > ���������	=��� m �
�����1
�������
���� M(< 2 >) =< a2, c2 >1 ��������� 2 = ω(1 − ω) �
����
$�����������������$�
�������� 21 9	���	= M(< ω >) ��� M(< 1− ω >)
�������4�������������� < a2, c, bcb >1 �
��)#0 ���
������� Q(< 2 >
) ⊆< a2, c, bcb >" ������
" < 2 > �
�����	���	��� < a2, c, bcb >" �����	
�
[Γ−7 : Q(< 2 >)] = 361 �����
����%1818 ���
������� [Γ−7 : Γ(2)] = 36
����4=�%1815 $��� 1" Q(< 2 >) = Γ(2)1

:%



%151  G�� 9G�0�3#3�G�#B �P#�0B� 

%1 ���
���4
��������� a, a2, ��� a3 ���������� Γ−7(6, 5)" 4�� a4 �
�,4=��
���
)#0."�������
���
����� M(< m + nω >) ⊆ Γ−7(6, 5) ���������	=���
4 | m ��� n �
�����1 �
����)#0 ���
������� Q(< 2ω >) ⊆ Γ−7(6, 5)1
6�� 2ω = ω2(1 − ω) �
�����$��������������������� 2ω ��������������

�4����$
 M(< ω >)" M(< ω2 >)" M(< 1−ω >)" ��� M(< ω(1−
ω) >) ����4�������������� Γ−7(6, 5)" ����� aΓ−7(6,5) =< 2ω >1 #����
�
����)#0 ������$��� [Γ−7 : Q(< 2ω >)] = 144 �����
����%1818 ���
��
���� [Γ−7 : Γ(2ω)] = 1441  ��4=�%1815 $��� 1" Q(< 2ω >) = Γ(2ω)1

81 ���
��	���������������> [Γ−7(12, 4)
∨{A} : Γ−7(12, 4)] = 2" ������
���


���� M(< m + nω >) ⊆ Γ−7(12, 4) ���������	=��� m �
�����1 �
����)#0
���
������� Q(< −2 + ω >) ⊆ Γ−7(12, 4)1 6�� −2 + ω = −ω2 �

����$��������������������� −2 + ω ��� M(< ω >) �������4�����������
�� Γ−7(12, 4)" ����� aΓ−7(12,4) =< −2 + ω >1 3�����
���������$������

�>���	=�
���	������$���
 1 ��� 2/ F�
��
�������� [Γ−7 : Q(< −2 + ω >
)] = [Γ−7 : Γ(−2 + ω)] = 241

:1 #������4
��������� a, a2, ��� a3 ���������� Γ−7(12, 12)" 4�� a4 �
" �����

���
����� M(< m + nω >) ⊆ Γ−7(12, 12) ���������	=��� 4 | m ��� n
�
�����1 �
����)#0 ���
������� Q(< 2ω >) ⊆ Γ−7(12, 12)1 6�� 2ω =
ω2(1−ω) �
�����$��������������������� 2ω ���������������
�4����$
 M(<
ω >)" M(< ω2 >)" M(< 1 − ω >)" ��� M(< ω(1 − ω) >) ����4�
������������ Γ−7(12, 12)" ������
" aΓ−7(12,12) =< 2ω >1 3�����
��������
$�������		��
������$��� 21

�

:8



' ���������	
��	


���
���� '.8.(. ��������	����� g ������
�4����$ H ��������4�����=�����$ G/

'1 Hg := g−1Hg" gH := gHg−1" Hg := H ∩ Hg" ��� gH := H ∩ gH1

%1 μH(g) := [H : Hg] = [H : g−1 H]1

81 HG :=
⋂{Hg | g ∈ G} �
����������	�������������
�4����$ H �����������$

G1

:1 2���
� � ����������������
F������������1

81' ������������
3���
���=��������	�������
����������������
�4����$
��� SL(2, Z) ��
�4���
�����������������	���$��
�������4��������=��������������������=1 3��
������=��

������		�����	�$���������
�4������$$	�������
�������$����������=�4������
���
����������
1 3������
�����		������������$�������	�������$������
���������������	��
����
" ��		��������������$������
1 3���
���=�����������$������
��

����������
�����������
�4����$
�	���
���������$������
���������������
����������������
$���
�������	�������
�������
$�����
1 ���������
�" ���������������������$������
����
���
�����������
�4����$
��
��������������	" �
����F��������4=�#�����,
���4�	��.
����$������4=� �����,#$$���>���C<:D�����6������C?D1 ������
����$���" ����������4=
�����������������
�����������������������6�����������	�������
�,C':D�����C%<D." ��
��		�$�������������	�����������#����I
����F��������������������	��=����
�4����$

���6�����������$
1 B����
�7�
������		�
������������
��4��������	�������
����

���������#����I
����F������1 ���������	
" 
���C<%D1 B�� GL(2, R)+ 4������
�4


�������$��� GL(2, R) ���
�
���������������
������$�
�����������������1 #
���
���$��� 1" H2 = {z ∈ C | Im(z) > 0} �
�����0�������́�,�$$��.���	��$	���1
3�������$ GL(2, R)+ ���
��� C ∪ {∞} 4= :�̈���
��	
�
��	!
����
/ ��������=
σ =

(
a b
c d

) ∈ GL(2, R)+ ��� z ∈ C"

σ · z :=
az + b
cz + d

,

::



81'1 ��3(G��93�G�

σ · ∞ :=

{
a/c �� c � 0,
∞ �������
�.

#���	����� ±I2×2 � σ ∈ SL(2, R) �
�
�������4� �
	
�� �� �� tr(σ) = ±21
����
���		�� �  ����� ,�)��	�� �� ��
$1. �� tr(σ) ∈ R ��� |tr(σ)| < 21 ,> 2 ��
$1.
����		=" �� tr(σ) �
��������	" ���� σ �
���		��  �"��	�!��1 3�����		������$��$�
�����
�
���		������/

/	���
����� '.#.#. ,C<%D" 1.13.�B�� ±I � σ ∈ SL(2, R)1 3��� σ ��
������
�����
��
������7>���$����
" �����������

'1 σ �
�$���4�	������������	=��� σ ��
���	=�����7>���$������� R ∪ {∞}1
%1 σ �
��		�$�������������	=��� σ ��
�����7>���$���� z ∈ H2 ��������������7>��

$������
 z̄1

81 σ �
��=$��4�	������������	=��� σ ��
�����7>���$����
��� R ∪ {∞}1
B�� G 4������
������
�4����$��� SL(2, R)1 # $���� s ∈ R ∪ {∞} �
���		��

� ��
� �� G ����������>�
�
���$���4�	����	����� σ ∈ G 
�������� σs = s1 B��
FixG(s) := {g ∈ G | gs = s}1 �� s �
�����
$��� G" ���������
���		�������,C<%D"
1.17.����� FixG(s)/(G ∩ {±I}) � Z ������=��	������,� ±I.��� FixG(s) �

$���4�	��1

B�� F 4���������$	�>��������
$��������		��������$������������
 f : H2 → C1
��������= k ∈ N ∪ {0}" ��������$ GL(2, R)+ ���
��� F 4=�����
����		�� ������
� �$������
 |k �
���		��
/

( f |k σ)(z) := det(σ)k/2(cz + d)−k f (σz),

�����
σ =

(
a b
c d

) ∈ GL(2, R)+, f ∈ F.

��������=�
�4����$ G �� GL(2, R)+" �����������
�4
$���������������
��� F
����������7>������������������� |k �� G �����������	=�����������=���
$��� G 4=
FG" ������		��������� ��
���!�	�������	!
������������1 �� G �
���
�4����$���
SL(2, R)" ��� G
�������$��������
������������		�� G
!��� 
	���	!
 ���������
k1 3���
$��� FG �
���������������4= Mk(G)1 ����������� k G
�������$��������
����
��
��������=���
$��� G" ����
������
�������4��� G
��
����	! ��������� k �������

�4
$�������
�
������� G
��
$�����
���������� k �
���������4= Sk(G)1 ��������=
H ≤ f K ≤ GL(2, R)+" ������������� �	
���!
� 4����������������
$������

$���
�����������$��������
�4= TrK

H : FH → FK" ������
" TrK
H( f ) := Σ

i
f |k ai"

����� K = �Hai1

:-
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#	����������
���=��4
�������������	��4��
����������>��
��������������������	"
���������������		���������7����������������
������������$��������
�����" ��������
���������������#����I
����F������1 ��������= σ ∈ GL(2, R)+" ��7��������$������

TG
σ : FG

k → FG
k 4= TG

σ ( f ) := Σ
j
( f |k σ) |k gj ����� G =

μ(σ)�
j=1

Gσgj1 ���$�����


�	��" ��������= n ∈ N" TG
n := TG(

n 0
0 1

) �
���		������ Hecke �$��������

����������

n �������
$���������� G
�������$������������
1
2��������,
�4.����$ G �
�����������" ���������������������$������
��
�@����


����

��		=��
�����������
���������
����������� Mk(G) ,��� Sk(G)" ����
$���
�����
$�����
." 4=�������C85D�����#���������B������C%D1 G����������������" �� G
�
���������������" �����������$������
����������������	���=1 �����$����
�	=" 	�� Ĝ
4������������������	�
������ G �� PSL(2, Z)1 3�����������

���;����	� '.#.%. ,#����.���������=�$��������4�� p 
�������� p ��
��I������������
	���	�,�������
��������2��	�����C5&D.��� G" ������� TG

p = TĜ
p ◦ TrĜ

G1

 �����,#$$����>����C<:D�$���������
����F��������

����� G � Ĝ = SL(2, Z)
����6������C?D�$�����������������=�7���������>�
�4����$��� SL(2, Z)1

2���������������������	�������
���
�	�����������		��������=/ 7�
��4=�����	��

 ������������
$�������������
$�����
�����������	��=��	�

�
�C<%D" ��
�������
Sk(G)" ����������
������������������������������$������
��������7�
��������	��=
����$��� G ��������K�����������
����4	� G
����	�1 ��>��������=�����������$	���
��������	�������$ SL(2, Z) �� PSL(2, Z) ���� PSL(2,O−d) ��������=�
@����

�����������	����4�� d �����
�����������
���	�����
�	����	�
������������$������

������������$
�4�������������	��=�����$
1 3��
��
��������	�������
����$���" ��

������������
��
�����" ����������������������	��=�����$
1 2��
�����4=�����		���
������7������
�����4�
���$��$�����
�����4
�������������	��4��
�����������������

�������������	��=�����$
����������>��
������1 3���" ��		������������������6�����
C?D" �����		�$�������������	���
�	��������	=���������=�����$ PSL(2,O−d)" 4����	
�
�����		��������������	��=�����$
���������������K�����
������= G
����	��1 3��

��
�	���
���
$����	���
�����������������81-1< ��������	���
������������$������

�����
$������������=�$��� H ≤ f K ≤ G ���
�4����$
������ arbitrary ����$ G

���
�=���������������������
��������������
�������������
������$�4���������
$��

�����������	��=�����$
1

81% #4
�������������	��4��

������
�
��������������		�������7������
�����4�
���$��$�����
�������������4
�����
�������	��4��
" ��������������������������������������������$������
1 ��������

:<
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�����	
" 
���C:8D1 ������
�
������" G ��		�������������4�����=�����$���� R �����

������������������������	�������>��$���������
���
��>$	����	=�
�����1

3�0������ '.%.#. 3���
�4����$
 H1, H2 �� G ������		�� ��!!��
�	
� � ��������
�����
������ H1 ∩ H2 ��
�7���������>����4��� H1, H21

9�����
���4�	��=��
�����@����	�������	�����1 ������
�4����$ H �� G" �����=
�
�����������		������
����F�����
 Hg ��� g ∈ G ����������
���4	������ H1 3��

�
��������
�������	��=
�������
�" ,
����>��$	��'" $��� 2.�4���������	��	������
���
���������
�������	�����
 g �������������
��
������,����������������7��������
$���
." ������������������/

3�0������ '.%.%. B�� H ≤ G1 2����7������ ��!!��
�	
��	 �� H �� G �
/

CMG(H) := CM(H) := {g ∈ G | Hg is commensurable with H}

�������4����
�	=�
�������� CMG(H) �
���
�4����$��� G ������������������

��	������� H/ NG(H) ≤ CMG(H)1

9"
!� �
 #. ,C:8D" ���$��� 1" 3.5.

'1 CMSL(2,Q)(SL(2, Z)) = SL(2, Q)1

%1 CMGL(2,Q)({
(

1 n
0 1

) | n ∈ Z}) = {( a b
0 d

) | a, b, d ∈ Q, ad � 0}1

B�� H ≤ G ��� S 4����
�4

�������$��� CM(H) ���� SH = HS = S1
3��� (H, S) �
���		���� �������
�	 �����������$ G ���������7������ R
����	�
LR(H, S) = L(H; S) �
��������� R
����	�������4�
�
 {Hg | g ∈ S}1 �����

����������������	 H
����	��
�����������7������� (ΣriHgi) · h := ΣriHgih, ���
����= ri ∈ R, gi ∈ S, ��� h ∈ H1

3�0������ '.%.'. ������������$��� (H, S) �� G �����7�����
 R
������
 ���
�	
 HR(H, S) �
�����,R
���� H
.�
�4����	������		 H
�����������	�����
���
LR(H, S)/

HR(H, S) = H(H, S) = {u ∈ L(H, S) | uh = u ∀h ∈ H}.

3�����	��$	���������� H(H, S) �
���7�����
���		��
/ ��� x = ΣriHgi ��� y =
ΣtjHkj �� H(H, S)" �����7�� x · y := ΣΣritjHgikj1

:5
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9	���	=���� H = 1" HR(1, S) �
�F�
������
�������$
���� RS1 ����
�$$�
�
���� (H, S) �
���������$������ G1 ��� x ∈ CM(H)" Hx ��
�7���������>��� H1
 � μ := μH(x) = [H : Hx] �
�7����1 2���� H �
����������� μ ��
F�������
��

�� Hx" 
�= H =

μ�
1

Hxhi1 ����
���
=������������������� HxH =
μ�
1

Hxhi1 ��


7�� HxH :=
μ

Σ
1

Hxhi1 3��� HxH ∈ H(H, S)1 �� H �
������	��� G" ����
CM(H) = G" Hx = Hx = H ��� μ(x) = 1 ��������= x, y, g ∈ G1  �
HxH = Hx = HxH = Hx1 ����� H(H, G) �
�F�
����������$
���� R G

H ����
�����
��	���	��$	���������������$
����
1

3����	�����
 HxH ��� x ∈ S �������4�
�
�������� R
����	� H(H, S)" �

���
������������		�������������" �������������	
�������	��������$���������	����
H(H, S) �������
�������
��4�
�
��	�����
1 ��7��

ν
y
x(g) :=| {i | xhiy ∈ HgH} | ��� ξ

y
x(g) = ν

y
x(g)μ(y)μ(g)−1,

��������= g, x, y ∈ S1

-���	�! '.%.(. ������������$��� (H, S) �� G ��
 R
�������	��4�� HR(H, S) �

�������� R
����	�������4�
�
 {HgH | g ∈ S}. �������
�������
�4�
�
" ���
��	��$	���������� HR(H, S) ����4���>$��

����
/

HxH · HyH = Σξ
y
x(g) · HgH,

����� gI
������������������$�
����� HxHyH = �HgH1

 �������=�
�$$��

����������	���
���������	�����
 HxH" ���
�������HR(H, S)
�
��������� R
����	�������4�
�
 {HgH | g ∈ S} ���������4������	��$	�������1
2����������������������4�����������	��4��
����������������4�������������������
������1

5�!!
 '.%.&. B�� (H, S) 4����������$������ G ��� S−1 = {x−1 | x ∈ S}1 3���
(H, S−1) �
��	
����������$����������� R
����	���������$��
� H(H, S) →
H(H, S) ������
���
 HxH �� Hx−1H �
��������
�
����$��
���������
1 ���$��

����	��" �� S �
�������$" ����������4������$��
��������
�������$��
�������������
H(H, S)1

2��������
��������	��4��
�
��������
������
�����" �
���		����
������������	

	������
������
" ����������	��=�����$
 H∗(H, A)" ,��������= R ��� G
����	�
A". ��� HR(H, S)
����	�
����������������" �����������������
��	��4�����
$���

����
�����������
��������
��������	�����	��	��4��" 
���81-18 ����81-1:1

:;
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818 )���$�������	��=
B�� G 4��������$" ����	�� A 4����	��� G
����	�1 3���������	��=��� G ���������

7�����
��� A ����4����
���4����
���������������������
�������
����������

��
�����
1 B�� C0(G, A) := A ���" ��������$�
������������� q" 	�� Cq(G, A)
���������������$����
�
����������� A
��	������������
 f : Gq → A ������
q
��	��9����
����$������ Gq = G × · · · × G1 #�=�
������$��
���		���� ����
��!�������
�4������
��1 2����������
�����������$

∂q : Cq(G, A) → Cq+1(G, A),

(∂q f )(g1 · · · gq+1) :=

g1 f (g2, · · · , gq+1) +
q
Σ
1
(−1)i f (g1, · · · , gi−1, gigi+1, · · · , gq+1)+

+(−1)q+1 f (g1, · · · , gq)

��� (∂0a)(g) := ga − g" �����		 g1, · · · , gq+1 ∈ G ��� a ∈ A1
3����������� ∂q∂q−1 = 01 3�����$
 ∂ ������		������ ��������
	)�!
�
 ���

���
����������
���
�����
1 3����

������� q
���������	��=�����$��
������
4=

Hq(G, A) := Zq(G, A)/Bq(G, A)

����� Zq(G, A) := ke(∂q) ��� Bq(G, A) := im(∂q−1) ��� H0(G, M) :=
Z0(G, A) = AG" ����
�4����	���� G
�����������	�����
��� A1 3����	�����
���
,B1(G, A) ��
$1. Z1(G, A) �����	
����		���,inner− ��
$1. derivations1

B�� H ≤ G ��� g ∈ G1 2����7����������F���������
����$��
� cg ��������
q
��
����������$ Cq(H, A) �� Cq(g−1Hg, A) �
���		��
/

cg( f )(g−1h1g, · · · , g−1hqg) := g−1 f (h1, · · · , hq).

9	���	=�����
�����������$" ������
" ������		���������������������
���������= q/

Cq(H, A)

cg
��

∂q �� Cq+1(H, A)

cg
��

Cq(g−1Hg, A)
∂q �� Cq+1(g−1Hg, A)

3�����$ cg ������
�����
����$��
� c∗g : Hq(H, A) → Hq(g−1Hg, A)1 ���
����= u ∈ Hq(H, A)" �����7��

u · g := (c∗g)(u) ∈ Hq(g−1Hg, A). ,8181'.
2������������������		������	����/

:?
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5�!!
 '.'.#. B�� H ≤ G ��� g ∈ G1 ��������= RG
����	� A ��� q ∈ N" ���
��		��������������������
/

Hq(H, A)

res
��

−·g
�� Hq(Hg, A)

res
��

Hq(gH, A)
−·g

�� Hq(Hg, A)

0����1 ��
=�����7������1 �

��������
����������$	�����

" ����	
����7�������������	��=��
������������

������
���
�����
/ ������=����
���������������� q" 	�� Cq(G, A) ≤ Cq+1(G, A)
4������
�4����$����
�
�����������
����$
 f : Gq+1 → A 
��������

f (gg0, · · · , ggq) = g f (g0, · · · , gq)

�����		 g, g0, · · · , gq ∈ G" ����
����		�� ��!�������
������
��
1 3�����

4������=���$
 δq : Cq(G, A) → Cq+1(G, A) ������7�����
���		��
/

(δq f )(g0, · · · , gq+1) :=
q+1
Σ
0

(−1)i f (g0, · · · , gi−1, gi+1, · · · , gq+1)

��� (δ0 f )(g0, g1) := f (g1)− f (g0) �����		 g0, · · · , gq+1 ∈ G1 3������� q ≥ 1"
��� q
���������	��=�����$��
�������4=

Hq(G, A) := ke(δq)/im(δq−1).

3������
�� 1 − 1 �����
$��������4������ Cq(G, A) ��� Cq(G, A)" ��������=
q ≥ 1" �������
����$���4	�������������
4������=���$
/ )���� f ∈ Cq(G, A)
��� φ ∈ Cq(G, A)" ��7��

fH(g0, · · · , gq) := g0 f (g−1
0 g1, g−1

1 g2, · · · , g−1
q−1gq),

φN(g1, · · · , gq) := φ(1, g1, g1g2, · · · , g1g2 · · · gq),

�����		 g0, · · · , gq ∈ G1 �>��������	�����	=" ������������
����$��
�


(−)H : Cq(G, A) → Cq(G, A), (−)N : Cq(G, A) → Cq(G, A),

���������������
���������������" ����������� (∂ f )H = δ fN ��� (δφ)N = ∂φH ���
�		 f ∈ Cq(G, A) ��� φ ∈ Cq(G, A)" 
�����������������4����������7������
����
������	��=���������1

-&
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81: (�
�����������������
������$
��������������	��=�����$

)�������
�4����$ H ≤ G ����� G
����	� A" ��������������������
�����$ resG

H :
Hn(G, A) → Hn(H, A) ��������4=��������	�
����������		������ 	�
�	������ ��$1
B�� H ≤ G ��� [G : H] = n < ∞1 2�����
����������$�������������������
���������" ����
����		�� �	
�
��	�1�	����	�
�	������2�!
�1 B�� {s1, . . . , sn} 4�
������
���
�	���������	������
��
��� H �� G ��������� G �
�����
F���������� G =
n�
1

Hsi1 ��������=�	��� G
����	� A" �������
����������$��
� trH,G : AH → AG"

��7������� tr(a) :=
n
Σ
1

sia" ��		������ �	
�
��	�!
�1 3��
���$�����4���>������
���@��	=��������$ trG

H : H∗(H, A) → H∗(G, A)" ��		����	
����������
����,��
��
��
��������.���$1 2�����������>$	�������
���$����������/ ��������= x ∈ G" 	�� x̄
4���������@����	����� si ���� x ∈ Hsi1  ��������� xx̄−1 ∈ H1 ������������=
k > 0" f : Hk → A ∈ Ck(H, A)" ��� g1, . . . gk ∈ G" �������

trG
H( f )[g1, . . . , gk] =

n
Σ
1

s−1
i f [sig1(sig1)

−1
, . . . , (sig1 . . . gk−1)gk(sig1 . . . gk)

−1
].

3��
��
���������
����,�����
��
��������.���$������
����������$
���	������������
����������
���
�	1 3��
����$
������$�����������������
������������
���
�	�,��
C'-D.1 G����������������" 
���������
��
�����������$�
���
����=�	�
�������=�	�

������
4��������
������
4��������
" �������
��������������$����������	��=
����$
" ��		�������
����,�����
��
��������.������������	��=�����$
" �����������4�
$��������������
���$��
�����$�����������������������������������
�	�,
���C'-D.1 2�
�����������	
��4= trG

H1 3�����		������$��$�
����������
�
����������������$��$�����

���������
�����������������
������$
1 ������$����" 
��������>��$	��C'8D1
/	���
����� '.(.#. B�� H, K ≤ G ���� [G : H] ≤ ∞" A ��= G
����	�" ���
n ∈ N1

'1 �� H ≤ K ���� trG
H = trG

K ◦ trK
H ��� resG

H = resK
H ◦ resG

H1

%1 ��������= u ∈ Hn(G, A)" ������� trG
HresG

H(u) = [G : H]u1

81 2���� G =
m�
1

HgiK1 3������������= u ∈ Hn(G, A)"

resG
K ◦ trG

H(u) =
m
Σ
1

trK
K∩Hgi ◦ resHgi

K∩Hgi (ugi).

81- 3��������������������	��4��
��������������	��=�����$

B�� R 4���������������������������������� G 4�������4�����=�����$1 ����
���		
�������������������=�	��� RG
����	� A ��������=�������$��� (H, S) �� G" �����

-'
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�
���������	����������������������������	��4�� H(H, S) = HR(H, S) ���������

����	��=�����$
 H∗(H, A) ��7�������������		��������=/ B�� x ∈ S ���������
H �
����������� μ = μ(x) ��
F�������
��
��� Hx �� H/ H =

μ�
1

Hxhi1 ����
���
=

������������������ HxH =
μ�
1

Hxi" ����� xi := xhi1  �������������= y ∈ H"

HxHy = HxH" ������� HxH =
μ�
1

Hxi =
μ�
1

Hxiy" 
����������= 1 ≤ i ≤ μ"

xiy = ti(y)xi(y) ,81-1'.
���������@����	����� ti(y) ∈ H ���������@�������> i(y)1  � (x1(y) · · · xμ(y).��

��$������������� (x1 · · · xμ)1 �������� y, y′ ∈ H" (xiy)y′ = ti(y)(xi(y)y′) =

ti(y)ti(y)(y′)x(i(y))(y′)1 G���������������� xi(yy′) = ti(yy′)xi(yy′)" 
�

i(yy′) = (i(y))(y′), ti(yy′) = ti(y)ti(y)(y
′). ,81-1%.

)����������
���������������� q ������	��� RG
����	� A" �����7�������������
�� HxH ���������������
���
����� φ ∈ Cq(H, A) �
���		��
/

(φ • HxH)[y0, . . . , yq] :=
μ

Σ
1

x−1
i φ[ti(y0), . . . , ti(yq)],

�����		 y0, · · · , yq ∈ H1 ����
����������� φ • HxH ∈ Cq(H, A) ,
���C:-D" 3.3.1
3�������������$ Tx := TH

x : Cq(H, A) → Cq(H, A) �
�	��������������$������
�����������������������
��������$�
�������� HxH1 ��������" Tx ◦ δq = δq ◦ Tx"

�������������������
����������$��
� Tx : Hq(H, A) → Hq(H, A) �������

��		��������������$��������� Hq(H, A) �����
$�����������������4	����
�� HxH1
3����������$������
������	
��4����
���4���4=����
����������
���
�����
1 ���
�����
����������
���
����� f ∈ Cq(H, A) ��7���,q ≥ 1.

( f · HxH)(y1, . . . , yq) :=
μ

Σ
1

x−1
i f [ti(y1), ti(y1)(y2), ti(y1y2)(h3) . . . , ti(y1···yq−1)(yq)],

,81-18.
�����		 y1, · · · , yq ∈ H1 #���������
����������� f · HxH ∈ Cq(H, A) �������
����������$ Tx := TH

x : Cq(H, A) → Cq(H, A) �
�	�����" ����$�������������
����������������
��������$�
�������� HxH" �������$���4	�������������
4������=
��$
" ������������������$��
� Tx : Hq(H, A) → Hq(H, A)1 �������4��
����
���� Tx( f ) = (Tx fH)N ,
���C:-D�$��$1 3.3.1

3�����		���������$������
���$�������������������$������
��
����
������
�

��	$��	/

/	���
����� '.&.#. 9��
������� RG
����	� A ������������$��� (H, S) �� G1
B�� x ∈ S1 ��������= u ∈ Hq(H, A)" ������� TH

x (u) = trH
Hx

resHx

Hx
(u · x) =

-%
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trH
Hx
(resH

x H(u) · x)" ����� − · x �
��
���������@������ ,8181'.1 �������������
" ���
��		���������������������
/

Hq(H, A)

res
��

TH
x �� Hq(H, A)

Hq(xH, A)
−·x �� Hq(Hx, A)

tr

��

0����1 2�����$������4������������
1 B�� u = [ f ]" ����� f ∈ Cq(H, A) ���

�$$�
� y1, · · · , yq ∈ H ��� 1 ≤ i ≤ μ1 2������ xiy1 = ti(y1)xi(y1)


�
ti(y1) = xiy1x−1

i(y1)
= xhiy1h−1

i(y1)
x−11 G����������������" ,�
������������
	���

����������������$������
�
������.�	�� hiy1 = hj" 
� hiy1 = x−1uxhj ����
���
h ∈ H1 3��
 xhiy1 = hxhj" ������
" xi(y1)

= xhj = xhiy1" j = i(y1)" ���

ti(y1) = h = xhiy1hiy1
−1

x−1.

 ���	��	="

ti(y1)(y2) = xhi(y1)y2hi(y1)y2
−1

x−1 = xi(y1)y2hi(y1)y2
−1

x−1 = xhiy1y2hi(y1)y2
−1

x−1.

 ���� xi(y1)
y2 = ti(y1)

(y2)xi(y1)(y2)" ������� hi(y1)
y2 = x−1ti(y1)

(y2)xhi(y1)(y2)"
����� hi(y1)

y2 = hi(y1)(y2) = hi(y1y2) = hiy1y21  �

ti(y1)
(y2) = xhiy1y2hiy1y2

−1
x−1.

9�������������������	=" ���
�������

( f · HxH)(y1, . . . , yq) :=
μ

Σ
1

x−1
i f [ti(y1), ti(y1)(y2), ti(y1y2)(h3) . . . , ti(y1···yq−1)(yq)]

=
μ

Σ
1

h−1
i x−1 f [xhiy1hiy1

−1
x−1, · · · , xhiy1 · · · yq−1yqhiy1 · · · yq

−1
x−1]

= (trH
Hx

resHx

Hx
(cx( f )))(y1, · · · , yq),


����������� TH
x (u) = trH

Hx
resHx

Hx
(ux)1 3����������@��	��=���		��
������	����

8181'1 �

5�!!
 '.&.%. B�� H 4���������	�
�4����$��� G ��� A 4��� G
����	�1 3���
��������= q ∈ N" x ∈ G ��������=����
���������
 f ∈ Cq(H, A)" �������
μ(x) = 1 ��� ( f · HxH)(h1, · · · , hq) = x−1 f (t1(h1), · · · , t1(hq)), �����		
h1, · · · , hq ∈ H1

-8
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 ����������������	��=�����$
 H∗(H, A) ,��������= R ��� G
����	� A." ���
HR(H, S)
����	�
1 2��������
����
������������	�����		=�������
������
��������
��
$���
�����
�����������
��������
��������	�����	��	��4��1 �����>��$	�"

/	���
����� '.&.'. ,C'D�B���� 1.1.1.�9��
�������������$��� (H, S) �� G ����	��
0 → A → B → C → 0 4����
������>����
�@�������� RG
����	�
1 3�������
	�����>����������	��=�
�@�����

· · · → Hn(H, A) → Hn(H, B) → Hn(H, C) → Hn+1(H, A) → · · ·

�
����������>����
�@�������� H(H, S)
����	�
" ���1

2��
�=��������������$��� (H′, S′) �
 ��!��
��� 4=���������������$��� (H, S)
�� G" ��������4= (H′, S′) � (H, S)" �� H′ ≤ H" HS′ = S" ��� H ∩ S′S′−1 ⊆
H′1 ������
���
� H(H, S) ��4��
��� H(H′, S′) �
���
�4�	��4�������������
��������
���������$ L(H, S) → L(H′, S′) ������
���
 x ∈ L(H, S) �� ΣaiH′gi" �����
x = ΣaiHgi, gi ∈ S′ ������������=�,	������������. RG
����	� A �����������
HR(H′, S′)
����	�
 H∗(H′, A) �
 HR(H, S)
����	�
��
���		1 ��������"

/	���
����� '.&.(. ,C'D�B���� 1.1.3.�2���������4������������
"

'1 �� A �
���M�����M RG
����	�" �����������
�����������$

res : Hn(H, A) → Hn(H′, A)

�������
������������������� HR(H, S)1

%1 �� A �
���M	���M RG
����	����� [H : H′] < ∞" �����������
��
�����������$

cor : Hn(H′, A) → Hn(H, A)

�������
������������������� HR(H, S)1

�������4��
������	
����������� ��$���I
�	������
����$���4	����������������
�	��4�����������������������	��=" 
���C'D�	���� 1.1.41 ��������������	
" 
��
C::D1

2�����������4������������������
��������
�
������" �1�1 ���$����������������

	=��������$��������������	���������������	�����������#����I
����F������1 2������
������		������	����" ��������		�4���
���	�	����" 
$����		=��������$������������81-1<"
�����������������������
�
������1 ����
��������
�0�������́�	����/

5�!!
 '.&.&. B�� H, K ≤ G1 3��� [H : H ∩ K] ≤ [G : K] ������ G = HK"
������@��	��=���	�
1 9�����
�	=" ����������������@��	��=���� [G : K] < ∞" ����

-:
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G = HK1
G

���������

���������

H

��
��

��
��

� K

��
��

��
��

�

H ∩ K

3�����>����������$������
���������$�����������4������������������������	

�����������#����I
����F������1 �������$$	=���������7���������>�
�4����$��� PSL(2,O−d)
������
�������������	�
���" ��������������������	�����������#����I
����F������
�����������$������
���������������������	��=�����$
�,
���������>��
������.1
G���$������
��	�����
��
�" �
�����
������������������������������
��������
���$����
��������	��	�����
1

-���	�! '.&.*. B�� H ≤ f K ≤ G ��� g ∈ G 4��
�������� μH(g) < ∞ ���
K = (Kg)H1 9��
�����������		���������������
/

'1 [Kg : Hg] = [K : H]21

%1 K = H(K ∩ gH)1

81 [H ∩ Kg : Hg] = [K : H]1

:1 ��������= G
����	� A ��������= q ≥ 1 ������		���������������������
/

Hq(H, A)

TH
g

��

trK
H �� Hq(K, A)

TK
g

��
Hq(H, A) Hq(K, A)

resK
H

��

3��� 1 ⇔ 2 ⇔ 3 ��� 3 ⇒ 4

0����1 3����@����	������� 1, 2 ��� 3 �
���
=����$�����,
���	�����81<18 $��� 1.1
2��
�����$������ 3 ⇒ 41 B�� μ := μH(g) = [H : Hg] ��������� H =

μ�
1

Hggi1

 ���� K = (Kg)H" 
� Kggi ⊆ K ��������= i ��� K =
μ∪
1

Kggi1 2�������	�
����

������	��=" �

�������� K =
b�
1

Kggi ����� b = [K : Kg]" 
�

KgK =
b�
1

Kggi. ,81-1:.

--
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��������= y ∈ K" ��7�� ti(y) �
��������@����	�������� K 
�������� ggiy =
ti(y)ggi(y) ���������@�������> i(y) ,
����@������ ,81-1'..1

2����
H ∩ Kg =

m�
1

Hghj ,81-1-.

����� m = [H ∩ Kg : Hg]1 6=��

��$���� m = [K : H]1  �������������=
j" ghjg−1 ∈ K ��� {Hghjg−1 | 1 ≤ j ≤ m} ���
�
�
�����>���	= m ��
F����
��

��
" ���
�������

K =
m�
1

Hghjg−1. ,81-1<.

��������= y ∈ K" ��7�� ȳ �
��������@�� ghjg−1 
�������� y ∈ Hghjg−11
 ���� b = [H : H ∩ Kg] 4=�81-1-" ��� {(H ∩ Kg)gi | 1 ≤ i ≤ b} ���
�
�


����>���	= b ��
F�������

��
" ������� H =
b�
1
(H ∩ Kg)gi 
��4=��@������ ,81-1-.

H =
b�
1

m�
1

Hghjgi �����

HgH =
b�
1

m�
1

Hghjgi =
q�
1

m�
1

Hz(j,i), ,81-15.

����� z(j,i) := ghjgi1 ��������= x ∈ H" ��7�� t(j,i)(x) �
��������@����	��������
H 
�������� z(j,i)x = t(j,i)(x)z(j,i)(x)" ���������@���$�������������
 (j, i)(x) ,
��
�@������ ,81-1'..1

2��
��������� q = 11 9��
���� [ f ] ∈ H1(H, A) ����� f ∈ C1(H, A) �
��
����������1 2��
�������� (TH

g f )(x) = TK
g (trK

H( f ))(x) ��������= x ∈ H1 ���
����= x ∈ H" ������$���

(TH
g f )(x) = ( f · HgH)(x) =

b
Σ

i=1

m
Σ

j=1
(ghjgi)

−1 f (t(j,i)(x))

���

TK
g (tr

K
H( f ))(x) = (trK

H( f ) · KgK)(x) =
b
Σ

i=1
g−1

i g−1trK
H( f )(ti(x)) =

b
Σ

i=1
g−1

i g−1 m
Σ

j=1
(ghjg−1)−1 f (ghjg−1ti(x)(ghjg−1ti(x))−1) =

b
Σ

i=1

m
Σ

j=1
g−1

i h−1
j g−1 f (w(j,i)(x)),

-<
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����� w(j,i)(x) := ghjg−1ti(x)(ghjg−1ti(x))−11 2��
�������� w(j,i)(x) =

t(j,i)(x)1 9	���	= w(j,i)(x) ∈ H1 ��������� ti(x) 
���
7�
 ggix = ti(x)ggi(x)"
��� ghjg−1ti(x) = ghkg−1 ����
��� k" �����

ghjgix = ghjg−1ggix = ghjg−1ti(x)ggi(x) =

ghjg−1ti(x)(ghkg−1)−1(ghkg−1)ggi(x) = w(j,i)(x)ghkgi(x),


��4=���7��������� t(j,i)"

w(j,i)(x) = t(j,i)(x) f or every x ∈ H, ,81-1;.
�������
�7��
��
�������
� q = 11

B�� q ≥ 2 �������
���� [ f ] ∈ Hq(H, A) ����� f ∈ Cq(H, A)1 2��
��������

(TH
g f )(x1, · · · , xq) = TK

g (tr
K
H( f ))(x1, · · · , xq)

��������= x1, · · · , xq ∈ H1 2������

(TH
g f )(x1, · · · , xq) = ( f · HgH)(x1, · · · , xq)

=
b
Σ

i=1

m
Σ

j=1
(ghjgi)

−1 f (t(j,i)(x1), · · · , t(j,i)(x1···xq−1)
(xq)) ,81-1?.

���

TK
g (tr

K
H( f ))(x1, · · · , xq) = (trK

H( f ) · KgK)(x1, · · · , xq) =

b
Σ

i=1
g−1

i g−1trK
H( f )(ti(x1), · · · , ti(x1···xq−1)

(xq)) =

b
Σ

i=1
g−1

i g−1 m
Σ

j=1
(ghjg−1)−1 f (ghjg−1ti(x1)(ghjg−1ti(x1))

−1, · · · ,

ghjg−1ti(x1) · · · ti(x1···xq−2)(xq−1)ti(x1···xq−1)(xq)ghjg−1ti(x1) · · · ti(x1···xq−1)(xq)
−1
)

,81-1'&.
9��$���������������
$�������������
��� f ����@������
 ,81-1?. ��� ,81-1'&. ���
����		���������@������ ,81-1;." ���
������������
�����������
�����������������=
2 ≤ r ≤ q"

t(j,i)(x1···xr−1)
(xr) =

ghjg−1ti(x1) · · · ti(x1···xr−2)(xr−1)ti(x1···xr−1)(xr)ghjg−1ti(x1) · · · ti(x1···xr−1)(xr)
−1

.
,81-1''.

-5
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2��$��������
��
���		��
1 6=��@������ ,81-1;."

w(j,i)(x1 · · · xr) = t(j,i)(x1 · · · xr).

�
�����@������ ,81-1%." ������

t(j,i)(x1 · · · xr) = t(j,i)(x1)t(j,i)(x1)
(x2)t(j,i)(x1x2)(x3) · · · t(j,i)(x1···xr−1)

(xr),

�
���		��


w(j,i)(x1 · · · xr) = ghjg−1ti(x1 · · · xr)(ghjg−1ti(x1 · · · xr))
−1

=

ghjg−1ti(x1) · · · ti(x1···xr−1)
(xr)(ghjg−1ti(x1) · · · ti(x1···xr−1)

(xr))
−1

,

�����

t(j,i)(x1)t(j,i)(x1)
(x2)t(j,i)(x1x2)(x3) · · · t(j,i)(x1···xr−1)

(xr) =

ghjg−1ti(x1) · · · ti(x1···xr−1)
(xr)(ghjg−1ti(x1) · · · ti(x1···xr−1)

(xr))
−1

.
,81-1'%.

�������$������@������ ,81-1''. 4=������������� r ≥ 21 ��� r = 2" �@������
,81-1'%. ������
���

t(j,i)(x1)t(j,i)(x1)
(x2) = ghjg−1ti(x1)ti(x1)

(x2)(ghjg−1ti(x1)ti(x1)
(x2))

−1
.

 ���� t(j,i)(x1)
−1ghjg−1ti(x1) = ghjg−1ti(x1) ,4=������@������ ,81-1;.." ��

����

t(j,i)(x1)
(x2) = ghjg−1ti(x1)ti(x1)

(x2)(ghjg−1ti(x1)ti(x1)
(x2))

−1
.

�����

�����������@������ ,81-1''. ������= s ≤ r − 1" �������

ghjg−1ti(x1) · · · ti(x1···xr−2)(xr−1) =

t(j,i)(x1···xr−2)(xr−1)
−1ghjg−1ti(x1) · · · ti(x1···xr−3)(xr−2)ti(x1···xr−2)(xr−1) =

· · · =
t(j,i)(x1···xr−2)(xr−1)

−1t(j,i)(x1···xr−3)(xr−2)
−1 · · ·

t(j,i)(x1)
−1ghjg−1ti(x1)ti(x1)

(x2) · · · ti(x1···xr−2)(xr−1).

-;
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(�$	���������
�������������������
������������@������ ,81-1''. �����
�������
�@������ ,81-1'%. ������

ghjg−1ti(x1)ti(x1)
(x2) · · · ti(x1···xr−2)(xr−1)·

ti(x1···xr−1)
(xr)ghjg−1ti(x1) · · · ti(x1···xr−1)

(xr)
−1

=

t(j,i)(x1···xr−2)(xr−1)
−1t(j,i)(x1···xr−3)(xr−2)

−1 · · ·
t(j,i)(x1)

−1[ghjg−1ti(x1)ti(x1)
(x2) · · · ti(x1···xr−2)(xr−1)·

ti(x1···xr−1)
(xr)ghjg−1ti(x1) · · · ti(x1···xr−1)

(xr)
−1

] =

t(j,i)(x1···xr−2)(xr−1)
−1 · · · t(j,i)(x1)

−1[t(j,i)(x1) · · · t(j,i)(x1···xr−1)
(xr)] =

t(j,i)(x1···xr−1)
(xr),

$��������@������ ,81-1''." ������7��
��
�����$����1
�

��	�  
	) '.&.6. B�� H ≤ f K � G ��� g ∈ G 4��
�������� [H : Hg] = [K : H]1
3������������= G
����	� A ��������= q ≥ 1 ������		���������������������
/

Hq(H, A)

TH
g

��

trK
H �� Hq(K, A)

TK
g

��
Hq(H, A) Hq(K, A)

resK
H

��

��	�  
	) '.&.7. B�� H ≤ f G ��� g ∈ G 4��
�������� [H : Hg] = [G : H]1 3���
��������= G
����	� A ��������= q ≥ 1 ������		���������������������
/

Hq(H, A)

TH
g

��

trG
H �� Hq(G, A)

resG
H�������������

Hq(H, A)

81< �������$������
��������
�����������
�4����$

������
�
�����������
��3�������81-1< ���$�������������	�����������#����I
����F��

����������������$������
��������������	��=�����$
��� Γ−d = PSL(2,O−d)" ,���
�		�
@����������������	����4��
 d.���������K�����
������= Γ−d
����	�1 2��$����"
�����
�@���������	����
" ������� H ≤ f Γ−d �
����	���	 a := aH" ��� p ∈ O−d �


-?
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$�����
�������� a+ pO−d = O−d 3������� g :=
(

p 0
0 1

)
∈ PGL(2, Q(

√−d))"
H ≤ Ĥ ≤ Γ−d 
���
�=��������������
����81-1<1 ������
�
������" d ��		�4����
@����
�����������	����4��1

2��
����������
������������	��	�������=�	����
/

5�!!
 '.*.#. B�� I �O−d ��� p ∈ O−d 
�������� I + pO−d = O−d1 ��7��
g :=

(
p 0
0 1

)
∈ PGL(2, Q(

√−d))1 3���

Γ(I) ∩ Γ(pO−d) ⊆ Γ(I) ∩ Γ(I)g ∩ gΓ(I)

1

0����1  �$$�
������ 1 = v + o · p ���� v ∈ I, o ∈ O−d1
B�� u ∈ Γ(I) ∩ Γ(pO−d)" 
�������=������ u =

(
a+1 b

c d+1

)
=

(
a′p+1 b′p

c′p d′p+1

)
"

���� a, b, c, d ∈ I ��� a′, b′, c′, d′ ∈ O−d1  � ug =
(

a+1 b/p
cp d+1

)
=

(
a′p+1 b′
c′p2 d′p+1

)
1

3���������������� b/p = b′ ∈ O−d" 
������ b′ = vb′ + ob ∈ I1 3��
�
���
�����
ug ∈ Γ(I)" �1�1 u ∈ gΓ(I)1 3������	�
��� Γ(I) ∩ Γ(pO−d) ⊆ Γ(I)g �
�$�����
�����
���	�����=1

�

5�!!
 '.*.%. B�� f : X → Y 4�����������$��
��4���������4�����=�����$

X, Y1 ��������= H ≤ K ≤ Y" ������� [ f−1(K) : f−1(H)] ≤ [K : H]" ���
�����@��	��=���	�
��� K = H(K ∩ f (X))1 9�����
�	=" �� [K : H] < ∞ ���
�����@��	��=���	�
" ���� K = H(K ∩ f (X))1 #
�����
�	�" ��������= M ≤ f X"
[ f (X) : f (M)] = [X : MKe( f )]1 ���$������	��" [ f (X) : f (M)] | [X : M]1

0����1 f ������
������F����������������	������
��
��� f−1(H) �� f−1(K) ��������
	������
��
��� H �� K 4=��

����������� x f−1(H) �� f (x)H1 ����
������������
��	=��� K = H(K ∩ f (X))1 ������ [K : H] < ∞ ���������@��	��=���	�
" ����
���
���$��
��������������� K = H(K ∩ f (X))1 ����		=���� M ≤ f X" F�
��$��
H = f (M), K = f (X)1 �

5�!!
 '.*.'. ������=��	����� g ���������$ G ������=�
�4����$
 H ≤ f K ≤ G"
�������

'1 [H ∩ Kg : H ∩ Hg] ≤ [K : H], �@��	��=���	�
����������	=��� K = H(K ∩
gH)1

%1 �� K = NH ����
��� N ≤ K" ������� (1) �@��	��=���	�
����������	=���
N ⊆ H(K ∩ gH).

<&
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81 B�� g ∈ G ��� H, N ≤ K ≤ S ≤ G ���� K = NH1  �� H1 := N ∩ HS"
����� HS ������
����������	�������� H �� S1 �� [H1 ∩ Ng : H1 ∩ Hg

1 ] =
[N : H1], ���� [H ∩ Kg : H ∩ Hg] = [K : H].

0����1 ��� (1)" ���
�����������$ f = g(−) |H : H → G1 9	���	= f−1(K) =
H ∩ Kg ��� f−1(H) = H ∩ Hg" 
��������������4=�81<1%1 3���$����
��� (2), (3)
����
��������������1

�

B�� g ∈ G ��� H ≤ K ≤ G1 ��7�� π, πg : K ∩ Kg → H\\K := {Hx |
x ∈ K} 4= π(x) := Hx ��� πg(x) := H(gx)1 3�����������

(π, πg) : K ∩ Kg → H\\K × H\\K,

�
���		�� (π, πg) ��� H ≤ K1 �� H � K" ���� π ��� πg �����������$��
�

���� ke(π) = H ∩ Kg ��� ke(πg) = Hg ∩ K ��������� ke(π, πg) = ke(π) ∩
ke(πg) = H ∩ Hg1 ������
���
� (π, πg) �
���������������	=��� [H ∩ Kg : H ∩
Hg] = [K : H]1
5�!!
 '.*.(. B�� H ≤ f K ≤ G1 ������= g ∈ G" ���������$ (π, πg) �
����������
[H ∩ Kg : H ∩ Hg] = [K : H]1
0����1 B�� (π, πg) 4������" �������
���������	����� x ∈ K1  ���������>�
�

y ∈ K ∩ Kg ���� (π, πg)(y) = (H, Hx)" ������
" y ∈ H ��� x = h(gy) ���

��� h ∈ H1  � x ∈ H(K ∩ gH)1 ������4=�81<18 $��� 1" [H ∩ Kg : H ∩ Hg] =
[K : H]. �

5�!!
 '.*.&. B�� H, N ≤ K ≤ S ≤ G ���� K = NH" [K : H] < ∞ ���
H1 := N ∩ HS1 ������= g ∈ G" �� (π, πg) ��� (H1, N) �
�����" ���� [H ∩ Kg :
H ∩ Hg] = [K : H].

0����1 ���������������$������
�	���������$��� 3 ���81<181 �

����		=���������������		������	����/
/	���
����� '.*.*.  �$$�
� X, X1, X2 ������4�����=�����$
�������$����$��
�

X1

f1
� X

f2
� X21 �� X

( f1, f2)−→ X1 × X2 �
�����
��F������" ������������>�
��������$
Y � 1 �����$����$��
�
 X1

h1
� Y

h2
� X2 
�������� h1 f1 = h2 f2" �1�1 ���

��		���������������������
/
X

f1

����
��

��
� f2

���
��

��
��

X1

h1 ���
��

��
��

� X2

h2����
��

��
��

Y

<'
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0����1 B�� Ni := Ke( fi) ����$�� Y := X/(N1N2)1 ��7�� hi( fi(x)) := xN1N2
������������� Y � 1 �
 ( f1, f2) �
���������1 �

�����������
�����������������=�7���������>�
�4����$ H �� Γ−d" ��
�������

������	�
���" ����
$����	��	�����
 g ∈ PGL(2, C)" �������������
����81-1< ���

���
7��/

/	���
����� '.*.6. B�� p ∈ O−d 4��$����" ������7�� g :=
(

p 0
0 1

)
∈ G :=

PGL(2, Q(
√−d))1 9��
���� H ≤ f Γ−d ���	���	 a := aH" �����

��� a +

pO−d = O−d1 B�� Ĥ 4������������������	�
������ H �� Γ−d1 ����

[H ∩ Ĥg : H ∩ Hg] = [Ĥ : H].

0����1  �� H1 := HΓ−d ∩ Γ(a)" ����� HΓ−d �
����������	�������� H �� Γ−d1 3���
Ĥ = Γ(a)H ,%1:1- $��� 1.������
 aH1 = a" Ĥ1 = Γ(a) ,%1:1- $��� 2.1 ���������$
(π, πg) ��� H1 ≤ N := Γ(a) �
�����" �����4=�81<1- �����������1 ���
�����
���
�����4��� π ��� πg ��������/
9��
�����������������	�
��F������
 π1 : N � N/H1 ��� π2 : N � N/(N ∩
Γ(pO−d)) ����	�� ψ := (π1, π2) : N → N/H1 × N/(N ∩ Γ(pO−d))1 ��
ψ �
���������" �����4=�81<1< �������>�
��������$ T � 1 ��� N/H1

k1
� T

k2
�

N/(N ∩ Γ(pO−d)) 
�������� k1π1 = k2π21  �$$�
� T = N/W" ����� W :=
ke(k1π1)1  ���� T � 1" H1 ⊆ W � N" �����
 N �
�����������������	�
���
�� H1" ��������� W �
���������������1 6�� N ∩ Γ(pO−d) ⊆ W" �������������1
����� ψ �
�����1 ������� s ∈ N/H1" �������>�
�
 t ∈ N 
�������� ψ(t) =
(s, 1) = (H1t, (N ∩ Γ(pO−d))t )" ������
 t ∈ N ∩ Γ(pO−d) ��� s = H1t1
����4=�81<1' N ∩ Γ(pO−d) ⊆ N ∩ Ng" ��������$	��
����� π(t) = H1t = s"
�1�1 π �
�����1 G���������������� N ∩ Γ(pO−d) ⊆ N ∩ gN ,������4=�81<1'."
��$	=��� tg ∈ N ∩ gN" ����� πg(tg) = H1(

g(tg)) = H1t = s" 
� πg �
��	
�
����1
������������	=��

�������� (π, πg) ��� H1 ≤ N �
���������1 3����4=�81<1<
�������>�
��������$ Y � 1 �����$����$��
�
 N/H1

h1
� Y

h2
� N/H1 
��������

h1π = h2πg1 ������7�� F1 : N → Y ��� F2 : Ng → Y 4= F1(x) := h1(H1x)
��� F2(x) := h2(H1 · gx)1 9	���	= F1 |N∩Ng= F2 |N∩Ng 1  ��������������$

F : N ∗N∩Ng Ng → Y


�������� F |N= F1 ��� F |Ng= F21 ����� [N ∗N∩Ng Ng : ke(F)] ≤| Y |≤
[N : H1] < ∞ ��� [N : N ∩ Ke(F)] =| Y |� 11  � H1 ⊆ N ∩ ke(F) � N" 4��
N �
�����������������	�
������ H1" ��������� N ∩ ke(F) �������4������������1
������4=�%181'' ke(F) �
������
�����������
�4����$��� N ∗N∩Ng Ng ���7����
����>" ��������������%1<1;1 �

<%
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�������
����$��������������$������
������������
�
����������$����/

-���	�! '.*.7. B�� H ≤ f Γ−d = PSL(2,O−d) ,d ��=�
@����
�����������	����

4��.�4�����	���	 a := aH" ��� Ĥ 4����
�������������	�
���1  �$$�
������ p ∈ O−d

�
�$�������� a+ pO−d = O−d ������7�� g :=
(

p 0
0 1

)
∈ PGL(2, Q(

√−d))1
3������������= Γ−d
����	� M ��������= q ≥ 1 ������		���������������������
/

Hq(H, M)

TH
g

��

trĤ
H �� Hq(Ĥ, M)

TĤ
g

��
Hq(H, M) Hq(Ĥ, M)

resĤ
H

��

0����1 Ĥg �
������������4=�81<1' ����%181; $��� 31 ������4=�%1:1- ������� Ĥ =

(Ĥg)H1 �����
����81<15 ����81-1< �����������1 �

=�!
	� '.*.+. ����������
���������������	�������	�����	������
���������6������
����$��
����" ������
��������
�������
�
�������
����
�	�
�������� q = 1, 21

=�!
	� '.*.#8. G����$$	�����������3�������81<1; �
�������������=����6������
����	�������
�������������=�@���������7�	�
�����	�

����4������13�������	��

 ������
������������
$��������,
���C8-D.��		��
��
����
������
������
��
��	�

�

�������������	��=����7���������>�
�4����$
����6�����������$
1 3�������81<1;
����4���
����������������������������������6�����������	�������
����������

�����������
�4����$������6�����������$��
��

�����		=�����
�����
����������
����������6�����������	�������
�������
�������������	�
���1

<8
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C'D #1 #
������)1  �����
" 9�����	��=�������������������$
���������������

4�������
=
���
�����������������	��
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